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1 Preface

In a chess simultaneous exhibition, often called a simul, a stronger player plays
multiple games at a time with a number of other players. Many Grandmasters
do this kind of exhibition against a lot of opponents, and Mr. G. normally plays
against 50 players or more and scores more than 96%.

A leapfrog simul is more difficult: Here, two players play against several op-
ponents, playing alternate moves in each game. Since the playing strength of
the combination is less than either one’s strength and difference in style poses
additional challenges, leapfrog simuls yield much inferior results compared to
normal simuls.

A few months back, Mr. G. and I tried a leapfrog simul against 6 players,
playing 9 games and scoring 8%. On December 21, 2012, we tried it again, this
time against 12 kids, and scored 15/15.

These trials gave us the confidence to try on a big scale. Mr. G. gives a simul
every year to 50+ players, which includes adults and strong players. We decided
to make it a leapfrog simul. There were 50 players — 48 kids (some of them strong
rated players) and 2 adults —and we won convincingly — 50 wins, no draws, no
losses!

This is the full score of all the games, with some analysis.

A note on analysis: These are analyzed as if they are normal chess games.
However, it is not possible to play games of that quality in a leapfrog simul,
where moves are played without much thought and there is no communication
between players making alternate moves. So, take the analysis with a grain of
salt!



2 The Games

In all games, we took the White pieces. Aryan, who beat Mr. G. in the last
simul! tossed a coin to decide who should go first. I made the odd-numbered
(1, 3,5, ...) and Mr. G. made the even-numbered (2, 4, 6, ...) moves.

We won with a 50-0 score, but it was not a clean sweep as the score indicates.
Aryan (Game 2.2, Page 12) prepared a dangerous gambit against d4 and got a
winning position against us. We defended the best we could, and Aryan missed
several winning chances. After a series of cat-and-mouse maneuvers, the game
reached an even Rook and pawn ending. Against Raghu (Game 2.3, Page 17),
we had a clear advantage, but took a long time to figure out a winning plan.
Fred, the director of Kolty Chess Club, San Jose and a veteran player, gave us
a tough time by playing a complicated game (Game 2, Page 5), but Mr. G.’s
timely 24. Wed4! simplified the game into an endgame with two solid pawns
up. It was not simple even after that, though.

Even though we decided to play safe games, there were some little combinations,
which we executed together without trouble. My rook sacrifice 17. Ef6! (and
the later 21. Exh6! ) against Kushal (Game 2.4, Page 20), Mr. G.’s 10. £xh7+
against Pryal (Game 2.10, Page 34), my 13. &xhT7! against Rishi (Game 2.5,
Page 22) are some examples. The finale against Fred (Game 2, Page 5) also was
well-played by us.

We opened all games with 1. d4 and adopted the Stonewall formation or the
Colle system whenever possible. Several games went beyond this, Fred’s Dutch
defence (Game 2, Page 5) and Aryan’s Englund defence (Game 2.2, Page 12)
being two very important ones.

1He gave us a lot of trouble this time also. See (Game 2.2, Page 12).



2.1 Umesh (odd) & Mr. G (even) — Fred (1-0)

o UMESH (opD) & MR. G (EVEN)
e I'RED

Leapfrog Simul:
2013.01.26

A90: Dutch: 2. c4 96 3. g3 e6

Fred Leffingwell was the strongest opponent in the simul. He is a
USCEF first category player (Both Mr. G. and I are only second cat-
egory players) and the director of the famous Kolty Chess Club, San
Jose. This is our most prestigeous win in the event. Fred observed
that we are playing some convoluted variation of Queen’s pawn open-
ing to beat opening preparation, and decided to adopt the Dutch de-
fence to challenge us. He sacrificed a pawn on move 13 and lost
another pawn move 18, and a timely 22. Wq4! and 24. Wel! by
Mr. G. forced him to enter an endgame with two pawns down. Fven
two pawns down, he gave us a hard time winning the endgame.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

1 d4 5
2 c4 Df6
3 g3

Our original plan was to play
&c3/e3/DE3  etc. against the Dutch,
and play on the Queenside. But I de-
cided to play this variation because the
opponent was Fred, and we needed to
play the most accurate continuation.
The King fianchetto restricts Blacks op-
tions:

1. By preventing ...f4, White can play
e2-e4 when there is a chance.

2. The Bishop on the hl-a8 diago-
nal prevents Black’s light squared
Bishop getting developed on the
Queenside.

Mr. G. was not familiar with this varia-
tion, but it didn’t cause much problems.

4 &g5

White generally do not develop the
Queen Bishop early in this variation. 4.
£g2 is correct.

4 - 2e7

5 g2 0-0
6 Ac3 de

7 anf3 Qbd7
8 0-0 c6

9 Bel Wes

Mr. G. took the hint from my last move
and snatched the initiative by opening

up by...



10 e4! h6
11 &xf6 Dxf6
12 €5 dxeb
13 dxeb

I didn’t know what Mr. G. planned as
follow-up: 13. dxe5 or 13. &Hxe5. On
second thoughts, 13. &xed, securing a
strong post for the Knight and control-
ling many weak points in the Black’s
camp, is much better.

A N o
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13 ... De4?!

Sacrificing a pawn for nothing. 13... 2d7
or 13... Dh7 is better.

fxed
Wo6

14 QDxed
15 Exe4

If Black had plans to play ...b6 and
...&b7, this is the right time. After the
Queen leaves e8, queen-side fianchetto
becomes difficult.

16 Ee2 b67?

This loses a second pawn. White plays
g2-g3 and £f1-g2 against the Dutch de-
fence to prevent developing Black’s light
squared Bishop this way.

S N

(651
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£b7

17 Hda!
18 xc6

18. We2! is stronger. After 18... Wxc2
19. Exc2, both the pawns on ¢6 and
e6 are attacked. For other moves, one of
these pawns can be captured, and con-
trolling the b1-h7 diagonal gives White
a lasting advantage.



18 ... £ch
19 Ed2

I had considered and rejected by some
reason the variation 19. Qe7+ £xe7 20.
£ xb7 Bad8 21. Wc2, but didn’t see that
the Knight controls b4, otherwise would
have played 19. b4, forcing 19... £xc6
20. &xc6 Had8 21. Wel &d4 22. ded
etc., but the move played is much sim-
pler, especially for a leapfrog simul.

19 ... Wes

Leaving the b1-h7 diagonal is not good.
19... Eac8 was better.

20 4d4 £xg2
21 Hxg2 g7
22 Wgq!

A fine move, anticipating Black’s plan.
22. We2! also is good.

22 ... £xd4
Wee+

23 Hxd4

24 Weq!

The idea behind Mr. G.’s 22"¢ move. 24.
el also is fine for a normal tournament
game, but for a lepfrog simul, it is nec-
essary to simplify the game as much as
possible.

24 ... Wyed+

Black does not have much choice. The
only moves to avoid exchange of Queens
~24... We8 and 24... Weg — allow 25.
Hadl or 25. Hd6 with a strong position
for White.

25 Hxe4 Bafs

26 f4

26. Ee2 first and then 27. f4 (If Black
doesn’t play 26... g5 ) looks like a better
move order.

26 ... g5
27 Hft g7

Black should grab the d-file with 27...
Hd8! here, which was the last chance
for counterplay.

28 Hda! g6
29 Hde?

This gives Black some chances of coun-
terplay. Simple Queenside expansion
with 30. b4 is adequate here. Black
doesn’t have any counterplay.

29 ... gxf4
30 Hxeb6+ g5



30... &5 31. Exh6 ©xe5 would have
been stronger.

Mr. G. didn’t like this move. He pre-
ferred simplifying with 31. gxfd+ BExf4
32. Bxf4 Exf4 33. b3. “Thou shalt not
complicate!” is the first and last com-
mandment in leapfrog simuls!

However, the move played is better,
though complicated. The advanced h-
pawn will be significant after the sim-
plifications.

31 ... &h5

31... 915 32. Exh6 Yxeb 33. Eh5+ Led
34. Hgb +—

My idea was after 31. h4 &h5, White
can play 32. ¥h3!, threatening 33. gd+.
All variations seem to favor White:

A) 32... fxg3 33. BExf7 Exf7 34. &xg3
.

B) 32... Eg7/Eg8 33. g4 (33. Exf4 also
is fine.) Exgd 33. Exh6+ Lxh6 34.
Yxgd +-.

However, analysis shows that the simple
32. Ed6 with the threats of e6 and Ed3
also is very strong.

Mr. G.’s move, forcing the trade of a pair
of Rooks also is interesting.

32 ... Bxf6
33 exf6 fxg3

After 33... Exf6, 34. €h3! threatens 35.
Exf4 without losing the pawns. If 35...
£3, 36. g4+ Vg6 37. ¥g3 wins the pawn.
34. HExfd4 Exfd (34... Ed6!) 35. gxfd Lgd



( ©xh4 36. b4 +-) 36. bd Lxfd 37. c5
bxch 38. bxch Yeb 39. ¥f3 also wins
but with a little more difficulty.

34  Hxg3 b= i
35 b4 Lgb

Here, Mr. G. is threatening 37. Egd+,
with 37... ¥xf6 38. Efd+ or 37... ¥h7
38. Bg7+, both forcing the trade of the
rooks, and White can win with the extra
pawn.

However, the simple 36. c5 is adequete.
The funny thing is, neither of us con-
sidered playing c4-c5 for quite some
time, and were planning some conflict-
ing manuevres.

36 ... h5
37 &f3 &h7
38 Hed g8
39 &ds Bd7+
40 FHeb6 Ed2

o o N
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We unwisely allowed Black to activate
his Rook and need to play carefully to
win. The best move here is 41. Ef5!, at-
tacking f5 and threatening Ee5 if the
rook checks along the e-file. The move
played is fine, but not as effective as be-
fore.

41 c5 Bxa2
42  cxb6

42. ¢6! secures a passed pawn and is
more forcing. Now, White needs to go to
the King side to win. The more pawns
exchanged, the dimmer gets the chance
of a win.

42 ... axb6
43 HEd4

Again, 43. Ef5 is the right plan.

43 ... Be2+
44 &f5 B2+
45 Hg6 Hg2+
46  $xhs Sf7
47 Ef4 Hg1
48 &¥hé6 Hg2
49 Hf5



Threatening 50. Egb, but 49. h5! would
have prevented 49... Egb+, and 49...
Zg4 could be met with 50. b5.

49 ... Hg6+

49... Bg4! would have put White in more
trouble. White will still win narrowly:
50. Eb5! Eg6+ 51. ©h7 Exf6 52. h5 and
Black is in a zugzwang.

50 &hb!

50. ¥h7? g4 51. h5 Exb4 will be a
disaster.

50 ... Hgs
51 b5

Mr. G. criticized this move, but I think
this is good. 51. Hgh? Eh8+ 52. &g4
Lxf6  will lose another pawn. 51. Eb5
Hb8 52. €h6 Lxf6 also is not good. 51.
&h6 Bh8+ 52. ¥g5 Hg8+ is not better
than the text. Mr. G. must have consid-
ered 51. Eb5 Eb8 52. ¥g5, followed by
h4-h5-h6. But this move is at least as
strong as that.

51 ... Eh8+
52 ¥gb Be8+
53 &f4 Hgl

54 h5 Bf1+

10
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Again, Mr. G. and I are following differ-
ent plans. Mr. G. considers marching the
King to the King-side, going ahead of the
h-pawn and pushing the pawn behind it.
I am considering going to the center and
to the Queenside. After a little conflicts
and repetitions, I decided to go with Mr.
G.’s plan.

55 ... Hd1
56 &f4

56. h6 Bhl 57. £d6 Exh6 58. ¥c6 was
my plan. After this, I decided to follow
Mr. G.’s plan, and we didn’t have any
conflict of interest thereafter.

56 ... g1+
57 &gb Hg1+
58 &h6 Hg2
59 Hgbs! 2r2



8

7

6

5

4

3

2

1
60 Hg7+! & xf6
61 Hg6+! Sf7
62 Exbé6

Now, it is an easy win. Black cannot stop
both pawns.

62 ... Bf5
63 Eb7+ &f6
64 HEbs &f7
65 b6 Eb5
66 b7 Eb6+
67 &h7 Hbs

11

Threatening 68... Exh53.
68 h6 Ebé6

To meet 69. €h8?? with 69... Exh63f,
but White has a Killing move.

= N W s~ 1o N

69 Egs!

Black resigns. White is threatening 70.
b8¥W, while after 69... Exb7, 70. g7+
wins the Rook.

1-0



2.2 Umesh (odd) & Mr. G (even) — Aryan (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e ARYAN 2013.01.26

A40i: Englund Gambit

Aryan, who had defeated Mr. G. in the last year’s simul, offered the
toughest opposition this time. He played the Englund Gambit against
our 1. d4, and I, who was not familar with the opening, made some
cructal errors in the opening, leading to a lost game, depite Mr. G.’s
hard efforts to correct my mistakes. Aryan obtained a winning ad-
vantage in less than fifteen moves, but made some inaccurate moves
to allow us to level the game. It was a drawn Rook and pawn ending
when Aryan again blundered to lose the game. Aryan earned a well-
deserved prize.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 e5!?

The Englund Gambit, a very rare gambit
against the Queen-pawn opening. This
is not popular in serious games, because
White gets an advantage if handled cor-
rectly. However, it has some surprise

S N

5
value as in this game.
4
2 dxeb D6 3
3 f47

Being a 1. e4 player throughout my life, 1
I was not aware of this opening, and fell

for the trap. 3. f4 is considered inferior in

the theory. White should continue with

3. f3. Black will recover the pawn but

will lose time in doing so.

The start of troubles. White should play
f6 7. 2e2 and 8. O-O Dbefore opening

3 ces
4 Z(fﬁ Dixf6 the lines. I completely overlooked Black’s
2 e3f3 ?Q.SCS powerful reply.

12



7 - d4!
8 exd4 Nxd4
9 £d43?

Making things worse. After 9. 9xd4
£xd4 10. £e2, White cannot castle, but
Black doesn’t have enough pieces to at-
tack.

9 .o 0-0

10 Dc3?
10. ©e5! was the last chance to save
the game. After a series of mistakes by
White, Black has a winning attack.

10 ... He8+

Much stronger is 10... £g4! and White is
lost. 11. £e2 Dxe2 12. Dxe2 Ded poses
all kinds of threats.

11 Qeb

Forced. 11. ©d2 £g4 12. Wfl Hxf3+ 13.
gxf3 &5 14. Yc2 Hel—+. 11. Bfl Hixf3

13

12. Wxf3 £g4 13. Wo3 LAh5 —+. 11. £e2
Dxf3+ 12. gxf3 &5 —+. 11. De2 Dxf3+
12. gxf3 £h3 Al3... g2 —+.

11 ... £g4!

12  2e2 Dxe2

13  Wxds
Exchanging Queens didn’t reduce
Black’s attack.

13 ... Haxds8

14  Hxe2

oo N

w

14 ... &b4a+

This is good, but 14... £h5, threatening
15... &gd, is stronger. Note that after
14... Ded4, White can play 15. Dxg4,
but Black will still win with 15... £b4+
16. £d2 Dxd2 17. Ef2 £ch+ 18. Fel
Dxcd. After 14... £h5 15. h3, 15... Ded!
is strong.

15 &f2 Ded+

16 He3



16 ... £c5+7

16... &bl A17... Ed3+ wins.18. &Hd4
Nd7 wins the pawn back with attack,
and the Knight on d4 will fall soon.
16... Dgb! also is interesting. Looks like
Aryan overlooked that the Knight on e4
is unprotected.

17  Hxed £ xe2

18 fe3!
The only move to save the position.
18 ... &b4

Black could obtain two pieces for a Rook
by 18... £d3+ 19. €f3 HExe5 20. fxeb
g8+ 21. &f4 g5 22. g3 gxf4 23. gxfd
£ xc4, but this will leave Black with only
a small advantage.

Now it is an equal game, but Whire com-
mit more errors.

14

19 a3 £d2

20 b37?

20. £xd2 Exd2 21. b3 should give an

even game.
20 ... £c37

Black misses the last chance to win. 20...
Hxeb! 21. fxe5 £d3+ 22. ¥f3 Efs+ 23.
L3 £xe3 —+.

21 Ea2?

I rejected 21. Bacl because of 21... £b2,
but White was OK after 22. Ecel £d3+
23. &f3, and Black has nothing better
than 23... £xe5 24. fxeb Exeb=.

21 ... £d3+

21... £d1! wins because after 22. b4 £b3
(22... ab! 23. b5 £b3!) , Black wins a
pawn, and later will win a pawn on eb
as well.

oo N

w b




Despite a pawn down, Black still enjoys
a small advantage, but by trading pieces
to win back the pawn, Black allows an
even game.

22 ... & xeb
23 fxe5 Exeb
24 Bel Bfs+
25 g3 He6
26 h3 hé6
27  &f2

The game is pretty much equal here.
Black should continue with 27... Exel
28. &xel with an equal game. Instead,
Black tries to complicate that lead to
trouble.

27 ... Led
28 2c5 Hg6+
29 &Hh2 Hf5

[0}
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Heading to an equal ending. However,
30. £xa7! would have won a pawn.

15

30 ... Bxcbh
31 Ef2 Hcgb
32 g4

This helped to bring the King out, but
32. He7! Eb6 33. b4 ¥c6 34. Ef4 would
have been better.

32 ... Hde6
33 g3 Hd3+
34 Ef3 Bxf3+
35 Hxf3 ab

36 He7 Bc5
37 Yed b6

38 &d4 &f8
39 Ed7

I considered 39. Ee5, but was not sure
whether it is a win after 39... Exeb 40.
Yxeb Ye7. Later analysis showed that
41. ¢5! indeed wins. However, Black has
39... Ec6 as well.

39 ... c6??



Black probably was afraid of 40. Ed5.
Exchanging the rooks will favor White,
but Black had 40... Ec6. So, 39... gb was

sufficient to draw.
Now, Black is lost.

40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56

Eb7
Exb6
Exc6
hxg4
&5
b4
axb4
bb

b6
He6
Bxg4
b7
Hed+
Bxe8
b8W +
Wes54+
W6

Eg5
h5
hxg4
Hxga+
g5
axb4
Eg1
g4
Eb1
Bel
Ee8
Le7
&d7
Hxe8
LeT
&d7
L7

16

Wd6+ &b7
Wa7+ Lab
Wh5+ LaT7
Hc6

D

.
7
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2.3 Umesh (odd) & Mr. G (even) — Raghu, R. (1-0)

o UMESH (opD) & MR. G (EVEN)
e RAcHU, R.

Leapfrog Simul:
2013.01.26

DO0d: Queen’s Pawn Game: 2. e3

Raghu showed an incredible defence despite having a cramped posi-
tion, and we had to really struggle to realize an advantage. Having
unsuccessfully trying for a breakthrough along the semi-open c-file,
we switched to a King side pawn breakthrough, taking advantage of
move, and won finally. Raghu got a prize for his

Raghu’s weak 2
performance.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

1 d4 d5

2 e3d c6

3 £d3 e6

4 ANd2 2&de
5 fa g6

6 Def3 DeT
7 0-0 0-0
8 c4 dxc4
9 Dxc4 b5
10 &Hxdé6 Wxd6
11 Qe 5

White has a clear advantage. 12. a4!
gives a thematic break, but it was played

only three moves later.

12 £&d2
13  EHc1

ads5

13. a4! is more effective here.

13 v £b7
14 %Wp3 ab
15 a4 b4
16 Nec4 wWds
17 Hc2 DNab

17

Black could have obtained a little more
breathing space by a temporary pawn
sacrifice by 17... ¢5! 18. dxcb @d7 19.
Ded Dxed 20. dxed WeT.

18 &Qe5 Wer
19 Bfc1 Nb8
20 £ca

I didn’t understand this move. I assumed
Mr. G. wanted to get rid of the strong
Knight on d5, hence my next move. In
fact, Mr. G. was threatening to win a
pawn by 21. &£xd5 exdb 22. Wxd5+,
which Black immediately defends.

Instead, 20. £b5! would have won a
pawn and broken through the fortress.

20 ... wde
21 &xd57!

Misunderstanding Mr.G., T thought he
wanted to get rid of the Knight. This ex-
change only strengthens Black. 21. &el
is better.



21 .o exd5
22  2Zel! Ba6

Black plays passively. 22... Ec8 is better.

23 Ecb

SgT7?

24. Exab! Eb6 (24... Exab 25. £xbd +-)
25. Bach A26. a5 wins immediately.

24 ... aod7
25 QAxd7 Wwd7
26 £&h4 wWde

The position is even. Black has a little
more active Bishop and control of the c-
file, but this is not sufficient to win.

27 W2 h57!

18

This move gave us a chance to break
through. There was no need for this
move, and since White lacks a light-
squared Bishop or Knight, it is not possi-
ble to break Black’s fortress in the King-
side. But after this move, there is a hope
for a breakthrough with pawns.

We6
Weq

28 £g5
29 h3

Black should play 29... Ee8 and make
White defend the e3 pawn so that the
Queen cannot leave for the King side. It
will prevent a future e3-e4 pawn push
once the Queens are exchanged.

30 Eel
31 g4!

$h7

The only chance to fight for a win. 31.
Wh4 also is good, but White waits to
avoid any counterplay like ... ®c2.

31 ... fxgd
32 hxg4 Baa8
33 Wh4

oo N
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33... Wf3! offers more resistance, due
to the threat 34... Wxg4+. For exam-
ple, 34. gxh5 gxh5! (34... Wxh5? 35.
Wxh5 gxhb 36. ed! +) 35. Hc2 Wed+
36. Wxod+ hxgd 37. L2 (37. g4! also
is good.) and wins the pawn on g3. De-
fending it will lead to trouble: 37... &g6
38. g3 &15 39. £e7 Hg8 40. ed+! dxed
41. Ecb+ etc.

34 Ec2!

This is strong, but 34. e4! dxe4 35. Ee5!
is stronger.

34 ... Ha6
35 Hh2 g7
36 gxh5 gxhb
37 Wxh5 Zh8?

Black should try 37... ®xh5 38. Exh5
Ze8. White still has the advantage and
extra pawn, but the presense of opposite-
colored Bishops can offer some drawing
chances if he manages to exchange the
rooks.

The move played loses an exchange and
the game.

19

38. £h6+ L6 39. £g7+ is a riskier way
to win the exchange, because 39... &@xg7
40. Eg2+ £f6 41. We5+ leads to mate.

38 ... Lxf6
39 Wxh8+

The simplest, but 39. We5+ L7 40.
W5+ Le7 41. Web+ Ld7 42. Exh8 of-
fers a stronger attack.

39 ... Le7?

Loses a piece also, but 39... Wxh8 40.
Exh8 also is hopeless.

40 En7+ &£d8
41 Wxe8+

In fact, White has a quick checkmate
with 41. Wo7! A42. We7 4]... We6 42.
We7+ el 43. Eh8 mates. But the move
played is good enough to win.

41 ... Lxe8
42 ExbT7

o o N

w

With a full rook and pawn down, Black
resigns.
1-0



2.4 Umesh (odd) & Mr. G (even) — Kushal (1-0)

o UMESH (opD) & MR. G (EVEN)
o KUSHAL

Leapfrog Simul:
2013.01.26

A40m: Queen’s Pawn Game: 1... e6

Kushal handled the opening well, and could have obtained a perfectly
even position on the 16" move, failing which allowed me to obtain
an advantage by 17. Bf6!!, a rook sacrifice that destroys Black’s de-

fence.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

1 d4 eb

2 e3 ch

3 c3 cxd4
4 exd4 d5

5 £d3 2&de
6 We2 afe
7 25 hé

8 £ xf6 W6
9 Nf3 &d7
10 &bd2 N6
11 O-0 0-0
12 Eael Hae8

Kushal handled the opening pretty well,
and obtained an equal position.

13 Qe5 We7
14 f4 Dxeb
15 fxeb &c7
16 Wh5

This allows 16... Wgb!

neutralizing

White’s initiative. 16. £bl, intending
17. Wd3 would be interesting.

16

£d8

Kushal prepares 17... Wg5!  exchanging
the Queens and neutralizing the attack

20

without compromising the pawn struc-
ture. White finds a neat combination to
beat this idea.

w »» OG0 O N

Preventing both ... %g5 and the free-
ing ...f5, and preaparing for the killing
Exh6!. 17... gxf6 will lose quickly by 18.
Wh6 5 19. He3! with 20. Eg3+ or 20.
Zh3+ following.

Kushal tried to defend well, without
falling into this immediate checkmate,



but White’s attack was too strong to de-
fend.

17 ... a6

18 Eefl1?!
18. Be3! is a stronger way to continue
attack.

18 ... £b67

Black should play 18... £b5! even
though 19. £xb5 axbd 20. E1f3 still
wins for White.

19 Eifa

There was no need for this preparatory
move. 19. Exh6! gxh6 20. Ef6! wins im-
mediately.

19 ... £b5
20 £&c2

Again, 20. Exh6! gxh6 21. Egd+ wins.

20 ... 2c4

21

White conducts the final winning attack.

21  Exhé! gxh6
22 Hga+ Woh
23 HExgb+ hxgh
24 Wh7H

= N W s~ 1o N




2.5 Umesh (odd) & Mr. G (even) — Rishi (1-0)

o UMESH (opD) & MR. G (EVEN)
e RISHI

Leapfrog Simul:
2013.01.26

A40m: Queen’s Pawn Game: 1... e6

Rishi made some opening mistakes and ended up in an inferior po-
sition. A small pseudosacrifice won us a pawn with attack, which led
to win of Black’s Queen and subsequent checkmate.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

1 d4 eb

2 e3 2de
3 £d3 nfe
4 Hd2 eb

5 dxeb & xeb
6 Dgf3

6. Dcd WeT 7. Hixed Wxeh 8. N3 +.

6 .. £d6
7 ed Ah5?

7... 0-O (to meet 8. €5 with 8... He8 )
or 7... Acb , is better.

8 Nca 0-07

8... &f4 9. Dfed g6 10. Wf3 &xe5 11.
Dxed +.

9 Hxd6 cxd6
10 O-0O ds?
11  exdb deé

Black sacrificed a pawn hoping to de-
velop his light-squared Bishop, but he is
too much lagging in development.

22

12 &gs

12. £xh7+! ¥xh7 13. Dgb+ Le8 14.
Wyh5 wins a pawn with attack. After
13... Kg6, 14. g4! is strong, because after
14... D6 15. Wd3+ Ded 16. Wxed £5 17.
We2, White has a winning attack; so,
Black needs to play 14... Zh8 15. ¥hl!,
with 16. gxh5 Exhb 17. Egl coming.

12 ... g67?
12... ©f6 was necessary. Now White

wins a pawn and obtains a dangerous at-
tack by a little combination.

o o N

w




13 HxhT! &xhT7

13... Ee8 is better, but White still wins
after 14. £g5 WeT 15, W3 +—.

14 Wxh5+ g7

After 14... ©g8, 15. £xg6! gives White
a crushing attack.

15 Whe+ &f6

After 15... ¥g8, White can still play
16. £xg6, like in the previous note; but
since the Queen is not attacked, stronger
is 16. £g5!, followed by 17. £f6!, check-

mating.
16 2£g5+

This wins the Queen, but after 16. Eel!,
there is no way to stop the checkmate by
16. £g54f.

16 ... Fe5
17 £xd8

I thought for some time whether there
is an immediate checkmate, but couldn’t
find one, so went on to win the Queen.

17 ... Bxds8
18 Wes+ 15

There is a hanging rook on d8, but there
may be checkmate in sight!

19 c4! Zh8

Black could prevent the immediate
checkmate by 19... Ee8, but after
20.£e4, threatening 21. Ead1l and 22. {4,
checkmates. While 20... @xe4 21. We3+
is immediate mate, 20... &d4 21. Efd1+
Yxcd 22. ad! &xed 22. Wel+ Lbh 23.
We34. takes a few more moves.

20 Efel+ &d4

21 We3H

Ea

7y

Y Y
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2.6 Umesh (odd) & Mr. G (even) — Manu (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e MANU 2013.01.26

A48c: Neo-King’s Indian

Manu was the only player, other than Aryan (Game 2.2, Page 12),
who could have obtained an advantage over us. He had a chance to
win a pawn on move 12, and to get an active game on move 13, but
missed both by playing the right moves in the wrong order. We won
a pawn on move 16 and second pawn on move 18, and the rest of the
game was simple technique. Then Manu blundered a rook and paved
way for White’s advanced pawn on move 21, causing an earlier de-
feat.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 afe

2 e3 g6

3 Df3 L7 8

4 £e2 e6

5 c4 0-0 7

6 0-0 deé 6

7 Ac3 Ac6

8 a3 eb 5

9 dxe5 dxeb

10 Wxds Hxds 4

11 b4 fg4 3
2
1

White should continue 12. Ed1 before
moving the Bishop because the squares
on the d-file become weak.

12 ... & xf3

24



Black can win a pawn immediately with
12... ed! 13. &d4 (13. Del?? &xe2 14.
Hixe2 BEd2 —+) S xd4 14. exd4 Bxd4.

13 £&xf3 e4?

Here, 13... Ed2! is interesting, but after
14. Eabl, White is fine.

Losses a pawn. Black should try 15...
9d2!, and now 16. £f6 Hd6 17. £xc6
Bxc6 18. BEfdl Hixc4 19. £d4, and Black
has recovered his pawn.

16 &xed Deb

17 c¢5

White could win one more pawn by 17.
£ xb7 Hab8 18. £a6.

17 ... Nca?

17... c6 was necessary.

18 &xb7 ad2

19 Efd1

Much simpler is 19. £xa8 Qxf1 20. &xfl
Hxal 21. Edl, getting hold of the d-file.

19 ... Hab8
20 67!

Not sure whether shutting off the Bishop
from the game is a good idea.

20 ... ab3

o o N

w

21 ... gde7?

This blunder causes a piece. After 21...
Hd2 22. Bal/el (22. Eb2?7 HH{3+!)
b3, White should play 23. Exd8 Exd8
24. Eel to avoid repeating the position.

22 Exdeé cxd6
23 Exb3 ds
24 Bd3



Why not 24. ¢7? It is interesting that
this didn’t happen for three more moves.

24 ... d4

25 exd4 He8

26 &f1
Need to guard against the mate threat.
26. Ee3! also is strong.

26 ... Eeb

27 7 He8

28 He3 Exe3

29 fxe3

Black resigns.

26

= N W s~ 1o N




2.7 Umesh (odd) & Mr. G (even) — Anurag (1-0)

o UMESH (opD) & MR. G (EVEN)

Leapfrog Simul:

e ANURAG 2013.01.26
DO0d: Queen’s Pawn Game: 2. e3
Anurag handled the opening well, but played passively to allow us to
gain a tremendous initiative on the Queenside, where he castled. We
won a pawn and control of the a-file, and while we were launching a
powerful attack, Anurag overlooked that his Queen is attacked. After
that the game was dead lost.
I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.
1 d4 ds 18 ... cxbb
2 e3 e6 19 axbb Dh4?
3 £d3 6
4 f4 b4 Black should play 19... b6 or 19... £xa3
5 Le2 wde 20. Wxa3 a6 to avoid losing a pawn, but
6 c3 Qa6 White opens up the position with c4! in
7 Nf3 £d7 both cases.
8 Dbd2 0-0-0
9 Qe Le8 20 &xf8 Ehxf8
10 0O-0 f6 21 Hxa7 Dxf3+
11 Qef3 £h5 22 Qxf3 Whe
12 b4 Kt 23 Heal 87
13 b5 £xf3 24 Wha Bc7
14 &xf3 9b8
15 a4
8
The material is even, but Black’s moves
were very passive, and as a result, White 7
obtained an initiative in the Queenside,
where Black castled. White has a clear 6
advantage. 5
15 ... c6 4
16 £a3 Wer 3
17 Wh3 afs
18 Efel 2

18. c4! is a stronger way to protect the

e3-pawn.

27




White has won a pawn and enjoys a
great advantage due to the control of
the a-file, initiative in the queen-side and
forcing the Black pieces into passive po-
sitions. The next white move prevents
25... Ec4 and threatens 26. c4.

25 4Hd2! Ze8
26 c4! dxc4
27  Dxca &d777

Overlooking that the Queen is attacked.
But the Queen has no square to go, so
Black should play 27... Exc4 28. Wxc4
&d7. Probably, Anurag was considering
this and played the second move first,
losing his Queen.

28 Dxb6+ &ds

28

In the game, by some mistake, the Rook
was on {8 instead of e8. I checkmated
with 29. Wxf8+ . In any case, 29. Wd6+
is crushing.

1-0



2.8 Umesh (odd) & Mr. G (even) — Indra (1-0)

o UMESH (opD) & MR. G (EVEN)

e INDRA

Leapfrog Simul:
2013.01.26

DO0d: Queen’s Pawn Game: 2. e3

Indra didn’t do well in the opening, but we also didn’t exploit the
mistakes. Indra had a chance to equalize, but committed a blunder
on move 17 losing the Queen, and lost pretty soon thereafter.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

d4
ed
£d3
Nd2
c3
f4

Def3
0-0
Qe
dxe5

HHEH OO0 Ok W=

= o

ds

c6

eb
£b4
£ab
Wha+
Whe
nfe
Abd7
ANxeb

An unfortunate necessity, because 11.
fxe5 will lose the pawn on e3: 12...
Wxed+ 13. Ef2 Wxd3 14. exf6 gxf6 15.
Bxf6 £d8!, and White doesn’t have
enough time to double the major pieces.

29
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11 ... Dh57?

11... &»d7 was necessary.

12 e4?

12. g4! would have won the Knight.
That move has a hidden threat of 13.
gh! also, winning the Queen.



12 . dxe4
13  QDxed £b6+
14 ©g2 f5

15 exf6

15. Dd6+ Le7 16. g4 is stronger: 16...
fxgd 17. f5 2e3 18. Wxgd &xcl 19.
Haxcl +—; 16... Wg6 17. h3 A18. ¥h2
-

15 ... Dxf6
16  QDxf6+ gxf6

After 16... gxf6, White doesn’t have
much advantage to claim.

17 f5 exf5?7?

Overlooking that the Queen is attacked.
However, after 17... Wg7 18. fxe6 £xeb
19. Bel and White has initiative. An
interesting variation is 19... O-O-O 20.
Exe6 Wd7 21. £f5! Wixdl 22. Hd6+ &c7
23. HExdl Bxdl 24. &£f4+ BEd6 25. Bel
Ehd8 26. He7+ &b8 27. Exh7, and
White has all chances to win. However,
this is almost impossible to calculate in
a leapfrog simul!

30

After this blunder, the game is pretty
uninteresting.

18 £xhé6 fa
19 Whs+ &ds8
20 £g7 gg8
21  &xfe+ L7
22 We5+ &d7
23  &fs5#

23. We7 also is mate.




2.9 Umesh (odd) & Mr. G (even) — Nandit (1-0)

o UMESH (opD) & MR. G (EVEN)
e NANDIT

DO0d: Queen’s Pawn Game: 2. e3

Leapfrog Simul:

2013.01.26

Nandit made a weak sixth move, allowing us to win a Bishop for
two pawns. This compromised our King’s safety, but before Nandit’s
other pieces joined the attack, we could exchange the queens. The

rest was simple technique.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

1 d4 ds

2 e3d c6

3 £d3 g6

4 Df3 g4
5 0-0 Wd7
6 h3 £h57?

After 6... &xf3 7. Wxf3 ANf6, Black is
OK.

[ee}

Now, White can win the Bishop for a
pawn by 7. g4, but the Kingside will
be dangerously exposed. I thought for a
little while and was convinced that the

31

Queens could be exchanged before Black
could develop more pieces.

7
8
9

g4
hxg4
Hhi

£ xg4
Wxgd+
Wh3+

9... 06 10. Hh2 Wha 11. W3 leads to
the same position as in the game.

10

Ah2

Nfe

10... &d7 is a little more active: 11. ¥Wf3
Why 12. Wo3 Wie3 13. fxg3 eb +.

11

w3

Whi

Black cannot avoid exchanging Queens:

11... Wha 12. W3 +—.

12
13
14
15
16
17
18
19

Wxhb
Nc3
ed
£d2
eb
Dg4a
£e2
£h6

Axh5
eb
£b4
Dab
0-0
Babs
b5
Efcs



Black could try 19... £xc3 20. £x{8 (20.
bxc3 +—) £xb2 21. HEabl &xd4 22. £d6
Hc8 23. ad +-.

20 4Qe3 5

21  &xh5 gxhb
22 Hgl+ &hs8
23 Hgs

23. &g7+ Yg8 24. 416+ B 25. Ne2

23 ... Hos
24 Eagl Bg6
25 Hxg6 hxg6
26 Hxg6 He8

Mr. G. would defiitely have played 27.
Rxg8+, exchanging off more pieces, but
I decided to grab a couple more pawns.

27 Hxeb6 b8
28 Qx5 £18
29 Hf6

Because 29... £xh6 30. Exh6 is check-
mate!

29 ... ad7
30 Exc6 Fh7
31 &xf8
31. &xd5 is interesting, because 31...

£ xh6 32. Exh6 is again checkmate.

31 ... Exf8

31... &x{8 32. Eh6it.

32 Hc7

32

32. Bh6+ Yg8 33. Hixd5 +—.

32 ... Hxf5
33  HExd7+ g6
34  Hg2 Hg5+
35 &h3

To guard the h-pawn, but 35. €f3 is ok,
probably better.

35 ... &5
36 HExd5 Hg4
37 Hde Hf4
38 Hf6+ Yegb
39 f4+

Forcing the exchange of rooks and
queening the pawn.

39 ... Exf4
40 Exf4 Yxf4
41 €6 &f3
42  Hxbs Pe2
43 e7 ab
44 e8W4 &d2
45 Weq?

45. Ha3 is checkmate in 5.

45 ... axbb
46 Wd3+ el
47 c4

47. d5 is much faster.
47 ... bxc4
48 Wxca+ Yxb2
49 a4 La3
50 Wbs Ha2
51 ab Fal
52 a6 Fa2
53 a7 a3
54 a8H#H
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2.10 Umesh (odd) & Mr. G (even) — Pryal (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e PRYAL 2013.01.26

DO0d: Queen’s Pawn Game: 2. e3

A weak move by Pryal on move 8 allowed us to win a pawn with at-
tack. Pryal didn’t defend properly and had to give up heavy material.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 ds 10 &xh7+ &xh7

2  e3 €6 11 Qgs+ g8

3 £d3 c6 12 Wxgq 57

4 fa ofe

5 Df3 £d6

g @Zg 2 gig Black should drive the dangerous Knight
8 3 0-0? away with 12... f6 13. Dxe6 We7 14. {5
9 0-0 2xe6 15. fxe6 Hae8. But White can

continue with 16. e4! Wxe6 17. Wxeb

h=¢ 18. exd d5 19. D3 +.
I missed the simple combination 9. X6 18. exd5 exd5 19 3

£xh7+ ¥xh7 10. Hgb+ and 11. We4,
but Mr. G. found it on the next move.

9 247

oo N
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Black has only one way to avoid check-
mate and losing big material: 13... Ef6
14. Wh7+ &8 15. Whe+ Pe7 16.

Wi+ LeS.

White doesn’t have an

immediate checkmate, but the two ex-
tra pawns and initiative are sufficient to

win.

Instead, Pryal tried some desparado

moves.

13
14
15
16
17
18
19

fxgb
Hxh2
g6
Wxo6
24

Wy e6+

Wxgh
£xh2+
2e8
2xg6
£h8
g8

35

Black resigns. 19... Ef7 (19... ®¥h8 20.
Eh4it) 20. Bxf5 Eaf8 21. Ex{7 Ex{7 22.
3, Black has nothing to play.

1-0



2.11 Umesh (odd) & Mr. G (even) — Saravana (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e SARAVANA 2013.01.26

A45d: Indian Defence: 2. e3

An interesting game. Saravana missed several chances for counter-
play. We also made several mistakes. After the initial counterattack
boiled down, White’s lead development decided the issue.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 O fe 10 ... gh7?7?

2 e3 dé

3 £d3 g6

4 Nf3 £h6 Black could have won a pawn and obtain
5 0-0 0-0 a dangerous attack by 10... Hxg2! 11.
6 c4 wqr Yxg2 Wh3+ 12. Ygl Wxf3. Since 13...
7 D3 9 hb £h3 is threatened, White should play
8 e4 £ xcl 13. &c3, and now Black can either get
9 Hxcl afa to an end game with an extra pawn with

13... Wxdl 14. Ecxdl D6 15. db Dd4
16. ¥g2 5 F, or continue the attack
with 13... Wh3 14. &d5 Dc6 15. DxcT
Dxd4 16. Le2 Dxe2+ 17. Wxe2 Whe!
18. We3 2h3 19. Efel Hac8 T.

11 Qxgh?

Better is 11. Q\xf4 gxf4 12. c5.

11 ... f6?

Again, 11... &ixg2! is possible, but not
10 &He2? as effective as before: 12. €h1! A13. gl
+

This could have costed us the game is
Saravana saw the correct continuation.

Instead, 10. 2d5! is good. 12 &f3

36



12. Dxf4 fxgb 13. De2 is better.

12 ... Wodq

This was the last chance to play 13...
Dxg2!

= N W a0 N

After a series of mistakes, White consol-
idates the position with an extra pawn
and advantage.

13 &O\xf4 W f4
14 Wd2 Woq
15 Whe

15. ¢b! would have punished Black’s
poor development.

15 WoT

16 Wxg7+ SxgT
17 c5 g4
18 &Ad2

37

Stronger was 18. cxd6! If Black plays
18... £xf3, White can continue with 19.
dxc7, 19. dxe7 or even 19. Exc7, with
advantage. Or 18... cxd6 19. Bc7! +-.

18 ... dxch
19 Exch adr?
20 Exc7 Bads
21 f3 £h5
22 Hfcl

White is winning.
22 ... &hs8
23 Exb7 eb
24 Ecc7 exd4
25 HExd7 Bc8
26 Hxh7+ g8
27 EbgrH




2.12 Umesh (odd) & Mr. G (even) — Prerana (1-0)
o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e PRERANA 2013.01.26

Ad0a: Queen’s Pawn Game

Prerana was giving away material right from the beginning. She
pushed her center pawns to create some threats, other than that,
an uninteresting game.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 Da6?!

2 e4 o167

3 £ xab bxa6 8

4 e5 DNed?? 7

5 3 Dgh

6  4&xgb hé 6

7 £h4 g5

8  &f2 e6 5

9 De2 £b4a+ 4

10 c3 Le7 »
11  0-0 0-0 3 2
12 Hd2 dé 4 %% %
13 exd6 cxd6 2 Y 4 %%
14 2g3 5 % 7 Vi
15 f4 gxf4 1 %@%z

16 Dxf4 e5 a b ¢ d e f g h

17 dxeb

17. &g6! Ef7 (17... Ef6??7 18. DHxeT+
Wxe7 19. £h4 +—) 18. dxeb dxeb 19.
Dxe5 +— would have avoided all the
complications happened in this game.

17 ... dxeb
18 De2

18. Ygb now will lose the Knight to 18...
Whe+ but 18. Wh3+ Lh7 19. Deb Lxeb
20. Wxe6 would be very strong.

38



18
19
20
21
22
23
24
25
26
27
28
29
30
31
32

212
2b3
Wds
Efd1
gel
gxf3
Exds8
A\bd4
&d1
£¢3
2axf4
£ xe3
Dg3
hxg3

f4
2b7
e4
Baxds
ed

f3

& xf3
£ xd8
Sed
&c7
£f47
Zfe
Heb6+
Hxg3+7?
£137

39

... %
%////%
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A simple 33. &xf3 was possible. I some-
how didn’t see that!

Prerana resigned here.
1-0



2.13 Umesh (odd) & Mr. G (even) — Rahul (1-0)

o UMESH (0DD) & MR. G (EVEN)
e RAHUL

Leapfrog Simul:
2013.01.26

DO0d: Queen’s Pawn Game: 2. e3

On move 6, Rahul overlooked that a piece pinned against the Queen
can move and placed his on Queen so that a Knight pinned against
the Queen attacks it, and lost a piece. He lost the second piece on
move 15. After that, it was only a matter of playing actively for us

to win the game.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

1 d4 d5

2 e3d c6

3 £d3 Dh6
4 f4 g4
5 N3 e6

6 ANbd2

N W 1O N

Loses a piece. The Knight on f3 is not
absolutely pinned.

40

7 ANxh4 &xd1
8 Hxd1l Se7
9 H\hf3

9. Hdf3 makes more sense.

9 cee Dga
10 &e2 5

11 h3 afe
12  4Heb &Hhb

Threatening 13... Dg3+.

13 &f3 £h4
14 &f1
14. g4! &f6 (14... fxgd 15. hxgd and

Black cannot save both the pieces.)
14 ... g577

Loses one more piece.

15 g3 g4+
16 hxg4 He8
17 gxh5



17. Exh4! &6 18. gxfb exf5 19. &xf5 is

better.

17
18
19
20
21
22

Eg1

g4
Hxga
Hg6!

£ xgb+

216
h6
fxgd+
Ho7
Exg6

My plan was 22. hxg6, followed by @g3,
£d2 and Egl. This is also good.

22
23
24
25
26
27
28
29
30

I8
DNab
He7
Hxf6
cH

= N W 1O N
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33
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7

f g h

41

If it were Mr. G.’s move, he would not
have missed 31. £b4! Ec8 32. Ne5! with
the threats 33. ©d3 and 33. £xch+
Hxch 34. Dd7+. If 32... Lg8 33. &f7+
Bf8 34. Hg8+ is killing.

31 . ab

32  Of7 b4

33 &d4 Naa
34 hé Le7
35 h7 Hf8
36 Zhi eb

37 2&xeb d4

38 &de6+ &f6
39 £&xf8 Lxgb

. _E

= N W a0 N

40. 2d6! and there is no reply to 41.
Eh6H!

40

.. Dxf7
41 Bhe6

Hxb2
42 Wo74 He8
43 WeTH
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2.14 Umesh (odd) & Mr. G (even) — Jeffrey (1-0)

0]

N W O N

o UMESH (0DD) & MR. G (EVEN)

e JEFFREY

D0Oe: Queen’s Pawn Game: Stonewall Attack

Leapfrog Simul:
2013.01.26

Jeffrey’s opening was ok, but he blundered a pawn on move 12, and
an exchange on move 15, after which the win was pretty straightfor-

ward.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

1 d4 d5

2 e3 f6
3 £d3 ANc6
4 f4 g6

5 c3 ST
6 nf3 b6

7 A\bd2 &b7
8 0-0 0-0
9 We2 e6
10 a4 ad
11 &e5 h5

b ¢ d e f

12 ... b57?

g h

43

Loses a pawn, and makes an already dif-
ficult position more difficult.

13

£xb5

13. axb5! is much stronger. The Knight
is attacked, and the pawn on b5 can be
a real annoyance for Black. After 13...
DeT 14. 2a3 followed by 15. Ea2 and
16. Efal launches a powerful attack on
the Queenside.

13
14
15

£d3
£a3

a7
A\c6
Weg?

Loses the exchange also.

16
17
18
19
20
21
22
23
24
25
26

£ xf8
Bfcl
Dxd7+
£b5
Nf3
Deb
fxeb
gf1
Zf6
W3
gf1

HxI8
adT
Wyd7
Be8
Ebs

& xe5
De8
Hds
Le7
Bfs



White has a tremendous pressure on the
f-file, defending which is difficult. If 26...
WeR, both 27. c4 and 27. e4 dxed 28.
Wxed are very strong.

@/ %
A
A
U

7

C o

a b ¢ d e f g h

N W~ 1O N

32 Ef8

Typical Mr. G.! “When you have an ad-
vantage, trade as many pieces as possi-
ble without seeking the best plan!” is his
motto. I would have grabbed the pawn
on e6. The Bishop anyway has not many
ways to escape from the Rook.

26 ... &d8
27  EBxfr Bxf7
28  Wxf7 W f7
29  HExf7 Hc8
30 £xc6

32 ... &ds8
33 &2 Le7
34 Exe8+ Hxe8
35 &g3

Excchanging one pair of pieces is good,
but that Bishop would be very good to
hunt the Black pawns. 30. Ef6 is better.

With two extra pawns, White easily wins
this King and pawn endgame.

30
31

Ef6

£xc6
£e8

44

35 ... &f7
36 &f4 c6
37 b4 axb4
38 cxb4 FeT
39 Hgb &f7
40 ab Le7
41 a6 &d7
42 a7 L7
43 as8W $b6
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N BTy

S a2 5 DD

e~ 5 I~

:5 %3 3 S$228

LX) .

%8 z

&bs
Hc8

chb 46. dxch! d4 47. Whe+

was a faster checkmate.

44 Wa54+
45 &f6
46 Yxe6
47 &de

46 ...

All roads lead to Rome, but 44. Wh8+
44 ..

46. Ye7 mates in four.

La6 45. h4!

45

47. WHh6 mates faster.



2.15 Umesh (odd) & Mr. G (even) — Jasper (1-0)

o UMESH (opD) & MR. G (EVEN)
e JASPER

DO0d: Queen’s Pawn Game: 2. e3

Leapfrog Simul:
2013.01.26

Jasper played well in the opening, but made a single blunder on move
14 which costed him the game.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

S ULk W

d4
e3d
£d3
Ne2
3
g4!?

Nfe
d5
Sg4
eb
&f5
£xd3

6... Dxgd? 7. hxgd Wha+ (7... &xgd 8.
Wq2 Wha+ 9. g3 transposes.) 8. Ng3
(8. Bd2! &xgd 9. Well +) &xgd 9. Wd2

+.

10
11
12
13

Wyds3
£d2
Abc3
0-0-0
A\xc3
h4

h5!

£d6
0-0
4b4
£xc3
A6
Wde6

Not allowing 13. gb ©h5! and White’s
King-side attack comes to an end. Now

White threatens 14. gb.

13
14

Hdg1

hé6

46

o o N

w

Jasper played the game well till now,
even though White has a King-side at-
tack. The attack can be defended by
14... ©h7 15. f4 6. Black has a passive,
cramped position but not very worse off.

Instead, Jasper makes a horrible move
(Did he overlook that White can capture
en passant?), which immediately loses.

14
15
16
17
18

hxg6

W6+
Exh6+
Bxh7H

g57?
fxg6?
&h8
DhT



i

a b ¢ d e f g h

47



2.16 Umesh (odd) & Mr. G (even) — Sasank (1-0)

o UMESH (opD) & MR. G (EVEN)

e SASANK

Leapfrog Simul:
2013.01.26

DO0d: Queen’s Pawn Game: 2. e3

Sasank lost a pawn move 13, and had an inferior position. A blun-
der on move 16 allowed us to win a pawn and a piece and launch a
powerful mating attack.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

Q0O Utk WNhH

9. &e2,

d4

ed
£d3
DNe2
3
nfa
Axh5
0-0
2b5+

d5
f6
fg4
A6
£2h5
g5
Dxhb
b4

not giving Black a chance to

play 9... ¢6, was simpler and better.

9
10

se2

c6

My idea was 10. £a4, but Mr. G.’s move
is much better.

10
11

c3

Wa5

11. £d2! Whe 12. c4 is better.

11
12
13
14
15

e4

2 xgh
£h4
fxe4

DNab
DgT?
hé
dxe4
eb

48

o o N

w

16 Wb3

£e7??

Overlooking the attack on 7. 16... Wc7
was necessary. (16... De6 17. £h5! )
Even then, 17. £c4 continues the at-
tack.

17 Wxfr+ &d7
18 Wxe7+ ¥c8
19 grr

19. £xa6! Wxa6 20. Ef7 Whe 21. Hd2
A22. Qcd is stronger.



Be8?

19 ...

N

L

N

a b ¢ d e f g h

19... &c¢7 was the only way to prevent

immediate mate.

20 WxbTH

49



2.17 Umesh (odd) & Mr. G (even) — Amogh (1-0)

o UMESH (opD) & MR. G (EVEN)
o AMOGH

Leapfrog Simul:
2013.01.26

DO0d: Queen’s Pawn Game: 2. e3

Amogh missed an opportunity to win a pawn but was doing fine with
an almost level position, when he blundered on move 18, allowing a

checkmate in two.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

1 d4 d5

2 e3 D6
3 f4 e
4 £4d3 fg4
5 nf3 e6

6 A\bd?2 &f5
7 & xf5 exfs
8 0-0 DNed

9 b37?

Trying to develop the dark-squared
Bishop, but this creates a big hole on
c3. 9. Ded was better.

50

9 .. £b4?

Black could snatch the opportunity with
9... De3! 10. Wel A\b4, and White needs
to be very precise: 11. \b1! Hexa2 (11...
Dxc2? 12. Wxc3 Hxal 13. Wxal +) 12.
We2 Axcl 13. Excl =.

10 Hxed!
11  He5
12 fxeb

fxed
D\xeb
0-0

o o N

w

White’s problems are over, and White’s
open f-file is counter-balanced by Black’s
better pawn structure.



White has only a very slight plus in
this position, and after 18... We6, Black
should do fine. Instead, he commits a
blunder.

& xd2
f6
Exf6
W6
Wa6

£d2
Wyd2
exf6
Exf6
Zf1
W2

13
14
15
16
17
18

Wxa27??

Black resigns. After 19... ©h8 20. Wf8+!

ol



2.18 Umesh (odd) & Mr. G (even) — Laura (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e LAURA 2013.01.26

A40m: Queen’s Pawn Game: 1... e6

Laura was exchange down in 10 moves and a whole rook down in 13
moves, and gave up another piece on move 18. White’s attack was
fierce, winning more and more material, finally ending in checkmate
on move 33.

Umesh made the odd-numbered moves from 1 to 29, and moves 30
and 32, while Mr. G. made the even-numbered moves from 2 to 28
and moves 31 and 33.

1 d4 e6 9. &6 Wd6 10. DxeT+ Wxe7 11. e4 is
2 e3 £b4a+ stronger, due to better development.
3 c3 2e7
4 £d3 of6
5 £4 0-0 9 ce Eb8?
6 &f3 d5
7 QDbd2 Dab Loses the exchange.
8 Qe b6
10 &c6 Wes
11 Hxb8 Axb8
12 g4 DNxgd??

Loses a piece also.

13 Wxgq eb
14 Wg2 ed
15 £e2 a6
16 &hil

16. 5! A17. f6! is stronger.

16 cen b5
17  f5! c6
18 f6 &xf677?

Loses one more piece.

92



19 Exf6 adv7 31. &xgT+ Wxg7 32. WxgTH s

20 Ef4 c5 straightforward.

21 &Of1 cxd4

22 exd4 g5?

23 Wxg5+  ©hs8 3L ... Dixb2
32  Dxf5+ Wo7

24 Bh4 Bo8 B Wi

25 Whe Hg7 X

26 g3 Wos

27  &f4!

- »»»
T almost played 27. ©h57? allowing 27... %// %// %7
o ww
2 obs 1// /// %
28  &e5 Dad /
29 4hb

I made this move and Laura passed when
Mr. G. was at the board. I was also sup-
posed to pass, but by mistake I made
the next move. So, moves 30 and 32 were
made by me, while 31 and 33 were made
by Mr. G.

= N W s~ 1o N

29 ... fé 1-0
30 &xfé &f5
31 Qxgr?!

93



2.19 Umesh (odd) & Mr. G (even) — Shreyas (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e SHREYAS 2013.01.26

DO0d: Queen’s Pawn Game: 2. e3

Shreyas blundered a pawn on move 9, a Knight on move 22 and a
Rook on move 26. The Queens were exchanged off on move 13, so it
was a very easy task for us to drive the victory home.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 Ofe 16. c4 bxcd 17. bxcd £c6 18. e4 opens
2 e3 ds up the position in White’s favor.
3 £d3 26
4 Df3 6
5 c3 &f5
6 £b5 a6 16 ... eb
7 £ xc6+ bxc6 17 a4
8 Waq £h67
Loses a pawn. Again, 17. ¢4 dxcd 18. dxe5 dxe5 19.
Hacl launches a dangerous attack.
9 W c6+ 247
10 Wes
10. Wh7 is a better route to escape via i; gécl igj
b3 or (if Black plays 10... Eb8 ) a6. 19 c4 & %f3
20 Dxf3

10 ... Hgs

Black could try 10... £f8, and the threat
of ...e6 forces White to play 11. ®a5.
The Queen is not well-placed on c5.

20. dxeb dxe5 21. cxd5+ ¥bT7 22. Axf3
is stronger but this is simple.

11 O0-0 £b5

12 Eel Wde 20 ... exd4
13 Wxde cxd6 21 Hxd4 Dea
14 b3 0-0-0 22  cxd5+ Ncb?
15 Dbd2 Hges 23 b4 &d7
16 £b2 24  bxch Hc8

o4



threatening 34.

LaT7
f5

La6

33 Dxe8
34 Ec8
35 et
36 Bagtt

33 ...

Exab¥, mates next move: 33... dxcb 34.

The beautiful 33. Ec5!,
2 xchH.

&d8
Ebs?
Hc8
Lxb8
ab
LaT7
Lab
FaT7

28 cxb8W4

25 c6+
26 g3

27 cT+
29 Eabl
30 £a3+
31 4&bbs+
32 Qe7+

99



2.20 Umesh (odd) & Mr. G (even) — Isha (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e [SHA 2013.01.26

A40m: Queen’s Pawn Game: 1... e6

A game where Isha made mistakes after mistakes, losing pawns and
pieces and wasting moves.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 €6 17  Qc4 Wds?
2 e3 2b4+ 18 Axdé6+ LeT
3  c3 £d6 19 €5 Bbs
4 ed Nc6 20 Weq Bb2?
5  Of3 Hh6? 21 Wh4+ f6
6 £xh6 gxh6 22 Wxfeif
7 Hbd2 Nab
8  £d3 £f8
9  We2 b5?
10 &xb5 £d6 8
11 d5 c6
12 dxcé dxc6 7
13 b4 &4 6
14 £d3 £d7?
15 bxab Wxab 5
16 O-0O £d6 A

3

3 )
1

= N W s~ 1O N




2.21 Umesh (odd) & Mr. G (even) — Brandon (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e BRANDON 2013.01.26

DO0d: Queen’s Pawn Game: 2. e3

Brandon handled the opening pretty well, but a careless move on
move 12 costed him a piece. He abandoned the game halfway, but it
was lost anyway.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 ds 12 cee £&c4?
2 e3 €6 13  £&xc4 DNxc4
3 £d3 Db 14 Waq+ war
4 f4 5 15 Wxcq ad5
5 N3 afe 16 &%e5 We7
6 a3 £d7 17  &d2 Dxc3
7 0-0 We7 18 £&xc3

8 c4 dxc4

9 £&xc4 Dab

10 £a2 £b5

11 Bel Bds8

12  “AQc3

S N

(651

w

N

Brandon had to leave before the game is
concluded. Anyway, he is a piece down
and should lose this game.

1-0

Brandon played well till this point, but
the next move would lose a piece.

o7



2.22 Umesh (odd) & Mr. G (even) — Harrison (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e HARRISON 2013.01.26

DO0d: Queen’s Pawn Game: 2. e3

Harrison tried a faulty combination to neautralize White’s center,
which costed him a piece and leaving his King vulnerable. I missed
a mate in two, but further loss of material forced Black’s resignation.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 ds series of exchanges, but misses a tactical
2 e3 c5 possibility on move 12.

3 c3 b6

4 £d3 Db 9 fxeb fxeb

5 fa bf6 10 Hxeb Dexed

6 Daz Dar 11 dxe5 fixe5?

7T Def3 f6 12 Wh5+! d7

8 0-0

Black loses a piece anyway. 12... Dg6 13.
£ xgb is worse.

13 Wxe5 £d6
14 Wxds Bbs

S N

(651

w

Harrison is trying to neutralize White’s
control over the eb square with a freeing

98



15 EBfr+

15. £b5+ mates on the next move. 15...
BT 16. WebH, or 15... Le7 16. W7,

15 ... Le8
16 £b5+ &47
17  &xd7+

= N W s~ 1o N

Black resigns. After 17... Wxd7 18. Exd7
Exd7 19. Deb, he will lose more mate-
rial.

1-0

99



2.23 Umesh (odd) & Mr. G (even) — Raj (1-0)
o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e RAJ 2013.01.26
A40j: Queen’s Pawn Game: Bogoljbow-Miles Defence
On move 11, Raj blundered into a pin, losing the Queen. He lost

more material in the several moves that followed and ended in a
checkmate on move 22.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 AW 12 Eel Dxf3+

2 e3 O\f6 13 Oxf3 fgd

3 c3 Ded 14 49Oxd5 0-0-0

4 £d3 5 15 QDxe7+ £ xe7

5 Dd2 d5 16 £xc6 216

6 De2 e6 17 £a4 £ xf3

7 f3 Hgh 18 Wxf3 £h4

8 0-0 e5 19 Wga4 gdr7

9  &b5 exd4 20 Wxd7+ b8

10 exd4 f4 21 EHe8+

11 Oxf4 We7?

Black resigns. It is checkmate after 21...

Walking into a pin. Hxe8 22. Wxel4t.

(o]
S N o

o1

w




2.24 Umesh (odd) & Mr. G (even) — Daniel (1-0)

o UMESH (opD) & MR. G (EVEN)
e DANIEL

Leapfrog Simul:
2013.01.26

A40j: Queen’s Pawn Game: Bogoljbow-Miles Defence

Daniel weakened his kingside by playing an early . . . f6 allowing White
to launch a srong attack winning material.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

1 d4 D6
2 e3 dé

3 f4 f6

4 £ds3 eb

Black has weakened his kingside, and al-
ready got a lost game.

5  Wh54! 26
6 £ xg6+!

Wins material and the game.

61

6 ce hxg6
7 Wyh8 Qce7
8 fxeb fxeb
9 dxe5 dxeb
10 Wxe5 £2h6
11  &2f3 &f5
12 0-0 £xc2
13 Hd4 £xbl
14 Exbl b6

15 &c6 Wd3
16 Hal

w »H» OG0 o0 N

N

Daniel abandoned the game, but anyway
it is lost for him.

1-0



2.25 Umesh (odd) & Mr. G (even) — Wilson (1-0)

~

N Wb 1O

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e WILSON 2013.01.26

D0Oe: Queen’s Pawn Game: Stonewall Attack

This game followed the killer line, but rather than following it, Black
blundered a piece, so we played a simpler game.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 Ofe Loses a piece, but even after 11... 9e8,
2 e3 d5 the killer combination from the famous
3 £d3 &c6 Horowitz game is possible: 12. £xh7+
4 f4 e6 Yxh7 13. Wh5+ g8 14. Hf3 g6 15. Whe
5 c3 Se7 g7 16. Eh3 Hh5 17. Dxgb! fxgb 18.
6 Dd2 0-0 Wyo6+ Dg7 19. Eh8+! &xh8 20. g6b!
7 Dgf3 247 mates in two moves.

8 Deb Dab

9 00 b6 12 ®Wxh5

10 g4 a6

1 g5

Wins a piece and continues the attack,
but after 12. £xh7+! ©@xh7 13. Wxh5+
g8 14. Hf3, Black cannot do anything
to meet the checkmate by Eh3 and

WhHs.

12 ... g6

13 Whe
13. ©xgb hxgb 14. £xgb fxgb Wxgb+
checkmates sooner.

13 ... Be8

14 Ef3 &f8

15 Wh4a b5?

15... h5 is better, but even after that 16.
£.xg6 fxgb 17. Dxgb, followed by Wxh5
checkmates.

11 ... Dh5? 16 Eh3 c6?

62



After 16... h5, 17. & xgb as in the pre-

vious move is possible, but also possible
is 17. gxh6 ®Wxh4 18. Exh4 £.c8 19. h7+

18 20. D7+ checkmating.

Wy h74

17
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2.26 Umesh (odd) & Mr. G (even) — Likith (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e LIKITH 2013.01.26

DO0d: Queen’s Pawn Game: 2. e3

Likith lost two pawns and the right to castle in ten mowves, and the
rest was simple for us. On move 13, he chose a continuation that led
to an immediate checkmate.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 ds 12. £bd+ Bf6 13. W3+ Be6 14. Wed +
2 e3 2f5 ¥h6 15. £c3 is stronger, but Mr. G.
3 c4 dxc4 preferred a simpler continuation.
4 £xc4 £xbl
5 Exb1l eb 12 Wes
6 b3 Dc6 ©

o c 13 Wxa7+  ©ds?
7 Wxb7 Dab

14 2a5+ BT

8 £b5+ c6 15 WxeTt
9  &xcb+ Dixc6 e
10 WWxc6+ Le7
11 &d2 Ec8

oo N

w
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2.27 Umesh (odd) & Mr. G (even) — Adarsh (1-0)

o UMESH (opD) & MR. G (EVEN)
e ADARSH

D0Oe: Queen’s Pawn Game: Stonewall Attack

Adarsh blundered a piece on move 11, and a Rook on move 18, and

subsequently lost.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

Leapfrog Simul:
2013.01.26

1 d4 ds 13 Wg3 £ xeb

2 e3 D6 14 dxeb

3 £d3 hé6

4 Ad2 e6 I don’t know why Mr. G. preferred this

5 f4 £b4 move over 14. fxe5.

6 c3 LeT7

7 Def3 0-0 14 ... Hf7

8 0-0 Ay 15  Hgl d4

9  De5 Da5 16  exd4 h5

10 %hl £d6 17  &f3 wdr7

11 g4 18 Wg6 Ef6
19 exf6 Zh8
20 f7 We7
21  Wxh5#

S N

(6]

White had some initiative, but not
very significant, when Black blundered

a piece.

11 ... Qxgd? 1-0
12 Wxg4 f5

65




2.28 Umesh (odd) & Mr. G (even) — Vighnesh (1-0)

N W~ O

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e VIGHNESH 2013.01.26

DO0d: Queen’s Pawn Game: 2. e3

Vighnesh blundered a piece on move 10, and ran into a checkmate.
This was the shortest checkmate in the entire event.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 ds 12 ... e577?

2 el €6

i f.i3d3 iz,;l-'- Rather than continuing 12... Exf6,
5 1 Shd+ Vighnesh tried to attack the Queen, but
6 3 16 overlooked the checkmate on g7.

7 Df3 9h6

8 0O-0 0-0 13 Wxg7H

9 De5 £ xeb

10 fxe5 Ngd??

11 Wxg4 f5 1-0

12 exf6
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2.29 Umesh (odd) & Mr. G (even) — Pratham (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e PRATHAM 2013.01.26

A40i: Englund Gambit

Pratham gave up a pawn on move 1 and a Bishop on move 4. Later
he didn’t defend his kingside properly and allowed a quick checkmate.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 e5 12 &xh7+ Hh8
2 dxe5 2ba+ 13 Whs fxgh
3 c3 £c5 14 £g6+ g8
4 &Of3 L xf2+ 15 Wh7H#

5 Hxf2 deé

6 exd6 cxd6

7 e3 De7

8  &d3 0-0

9 gf1 &dv

10 &gl Dbcb

11 Dgb 67

= N W a0 N

= N W O N
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2.30 Umesh (odd) & Mr. G (even) — Nikhil (1-0)

o UMESH (opD) & MR. G (EVEN)
e NIKHIL

Leapfrog Simul:
2013.01.26

DO0d: Queen’s Pawn Game: 2. e3

Nikhil blundered a piece on move 6 and another on move 13, and al-
lowed a checkmate soon after. An interesting thing about this game
is that both Mr. G. and I missed £xh7.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

1 d4 d5 7 c3 £d6

2 e3 Y] 8 hxg4 0-0

3 fa N 9 Deb 2 xeb

4 £d3 fg4 10 fxe5 nd7

5 nf3 e6 11 Ad2 ANdxe5?
6 h3 12 dxeb Dxeb

6 R £b4+77

The Bishop on g4 is attacked, so this
move leaves both the Bishops under at-
tack by pawns, thereby losing one of
them.

68
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I didn’t see 13. £xh7+. After 13... ©h8
14. &f3 is strong. 14... Hxgd 15. Wd4!
Of6 16. £d3+ L8 17. Whd mates.

Nikhil continued to make blunders to
make this oversight obsolete.



13 ... PxgA??
14 Wxg4q

Mr. G. also missed that the h7 pawn is
twice attacked. He could have played 14.
£xh7+ ¥h8 15. Wxg4.

14 ... g57?

14... f5 15. Wh5 h6 would have delayed
the chackmate, but not very longer.

15 Whs f6
16 Wxh7H
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2.31 Umesh (odd) & Mr. G (even) — Austin (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e AUSTIN 2013.01.26

D0Oe: Queen’s Pawn Game: Stonewall Attack

Austin blundered two pieces on move 6 and move 7, and resigned the
game on move 11. This was the shortest game in the event.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 ds This move leaves a Bishop and a Knight
2 e3 Of6 forked by a pawn.
3 £d3 &c6
4 fa €6
8 fxeb Sg4
o ba £d6 9 Qgf3 2hs
10 exd6 £ xf3
11 Wxf3

S N

[6;]

N W s

Austin starts to make a series of blunders
here. The next move gives up a Knight

for a pawn. Austin gave up the game here.

1-0
6 - Nxd4??
7 cxd4 eb5??
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2.32 Umesh (odd) & Mr. G (even) — Kevin (1-0)

o UMESH (opD) & MR. G (EVEN)
e KEVIN

Leapfrog Simul:
2013.01.26

DO0d: Queen’s Pawn Game: 2. e3

I made a mistake in the opening, but Kevin did not takw advantage
of that. However, he played the game pretty well, but overlooked the
loss of his Queen and subsequently resigned.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

1 d4 d5

2 e3 D6
3 f4 e
4 £d3 2\b4
5 £e27

Simple 5. &3 Axd3 6. cxd3! is the right
way to continue here.

ces £15!
6 £d3!

Mr. G. corrects my mistake. I would have
played 6. a3 e6 7. c3 4c6 8. A\bl, but
the Bishop on {5 will give White a lot of
trouble.

It is typical that in a leapfrog simul, one
player just reverses the other player’s
move like this!

6 e67?

6... Axc3 7. cxd3 e6 would have trans-
posed into a known variation (5. 9f3
Hxd3 6. cxd3 &f5 ) with an extra
tempo.
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7 & xf5 exfb
8 anf3 Ded
9 0-0 Wfe
10 a3 A\c6
11 SHbd2 Nxd27?

Black should not exchange this strong
Knight. If White takes, Black would get
a strong pawn on e4. Now White has a
favorable position.

12 &xd2 Hgg7!
13 &Qe5 Axeb
14 fxe5 Whe?

oo N

w




15 e4?!
Simple 15. Exf5 is better.
15 ... fxed??

15... Wh6 would have kept the pawn,

72

even though White has a clear advan-
tage.

16 £xh6

Having lost the Queen, Black resigns.
1-0



2.33 Umesh (odd) & Mr. G (even) — Haritha (1-0)

o UMESH (opD) & MR. G (EVEN)

e HARITHA

Leapfrog Simul:
2013.01.26

A40j: Queen’s Pawn Game: Bogoljbow-Miles Defence

Haritha blundered a piece on move 11, and didn’t defend the weak-
ened king-side properly thereafter, allowing us to checkmate in 18

moves.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

1 d4 A\c6
2 e3 f6
3 £d3 e6

4 f4 £b4a+
5 c3 £ab
6 AHd2 0-0
7 Dgf3 dé

8 0-0 Ebs
9 e4 Ne7
10 €5 dxeb
11 fxeb b577

Giving up a piece for no reason.

12 exf6 gxf6

13 Qh4

13. Ded Df5 14. Hh4! is stronger. 14...
Hxh4 15. Hxf6+ Lh8 16. Wh5 mates.

13 ... 5!
14 df3

14. b3 £b6 15. &2h6 He8 16. £gb
is more forcing because of the gained
tempo, but the Knight may be better
placed on f3 than b3.

14 ... Nc6

Black should play 14...f6, so that the
Rook can go to {7.

15 £h6 Hes
16 Wel

16. &gb and Wh5 also is very strong.

16 ... b4



16...%h8 is necessary to prevent the
chackmate following, but even after that,
17. b4 &b6 18. &xb5 £b7 19. &xcb
£xc6 20. Dgb+! hxgb 21. £g5 wins.

17 We34+ &hs
18 WorH

= N W s~ 1o N
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2.34 Umesh (odd) & Mr. G (even) — Karan (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e KARAN 2013.01.26

D0Oe: Queen’s Pawn Game: Stonewall Attack

Karan blundered a piece on move 8 by doing a capture with the wrong
piece, and another piece on move 12. Finally, he overlooked a check-
mate in one on move 15 and got checkmated.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 ds Black played 11... £g5 to capture the
2 e3 afe pawn on e3, and ignored White’s move
3 £d3 €6 supporting it. Loses a second piece.
4 Nd2 6
5 c3 £d6
6 f4 0-0 ii fgxg?’ ag
7 Dgf3 £d7 ° ¢
8 oop 15 Whs Wee
16 Wxh7H

S N

(6;]

w

2 A% %%
%, n

_ g

a b ¢ d e f g h

8 - Dxe57?

9 fxeb S&e7 1-0
10 exf6 £ xf6

11 0-0 g5

12 N3 £xe3+77

()



2.35 Umesh (odd) & Mr. G (even) — Laasya (1-0)
o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
o LAASYA 2013.01.26
A40j: Queen’s Pawn Game: Bogoljbow-Miles Defence

Laasya moved her knight to the edge of the board, and allowed it to
get trapped there. On move 11, she blundered her Queen as well, and
then allowed a checkmate on move 19.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 A\c6 7 a6?

2 e3d eb

3 ds Dab

4 a3 We7?? 7. axb6 axb6 8. £b2 is better. I didn’t

want to get the Black rook activated by
the open file, and thought the pawn on
a6 would cramp Black’s position.

Black didn’t realize the shrewed inten-
tion of White’s fourth move, lest she
would have played 4... b6, giving the

Knight an escape square.
7 .o Le7

5 b4 b6
6 bxab wre

7... ed! would have forced White to play
8. ¢3 and prevented the development of
both the Knights to f3 and c3.

8 £b2

To compliment White’s seventh move,
White should continue with 8. a4, but
it is already late to play £b2 because of
Black’s threat ...e4.

8 ces c6
9 f&c4 b5
10 £a2 c5
11 N3
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Instead of winning a pawn with 11...
£ xa6, Black blunders her Queen. Prob-
ably she thought it is a double attack
against the Bishop and the Knight!

11 ... ed??

12  &xf6 2 xf6

13 4&4Qd4

At the board, I didn’t realize that Mr.
G. just captured Laasya’s Queen, but
thought he made a blunder allowing two
of our pieces (the Knight on f3 and the
Rook on al) hanging, so played this

(s

move choosing the lesser evil. 13. d6! was
much better, because if Black takes ei-
ther piece, 14. Wd5! threatens check-
mate on f7 and winning the Rook on a8.

13 ... cxd4
14 exd4 Eb8
15 &c3 b6
16 @Dxed &e7
17 W3 g6
18 dé £d8
19  WxfrH

= N W s~ 1o N




2.36 Umesh (odd) & Mr. G (even) — Nishanth (1-0)

o UMESH (opD) & MR. G (EVEN)
e NISHANTH

DO0d: Queen’s Pawn Game: 2. e3

Nishanth blundered o Knight on move 4, a Bishop on move 8, and
the Queen mowve 11. He didn’t see a threatened checkmate on move

16 and got checkmated.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

1 d4 d5

2 ed c6

3 £ds3 DNab

4 c3 Nc5?7?
5 dxch e6

6 b4 S&e7

7 Nf3 216

8 0-0 £xc377?
9 Dxc3 e

10 £b2 0-0
11  %e5 Wdqr??
12 9xd7 &xd7
13 e4 dxe4
14 QDxed DNxed
15 £xed Bads
16 Whs 677

Overlooking the checkmate, but Black
doesn’t have much game left. For exam-
ple, 16... f5 17. Wo5 g6 18. &xf5 exfh
19. We7 Hf7 20. Wxd8+ EHf8 21. Wxd7
Bf7 22. Wd8+ Hf8 23. Wd4 mates. Or
16... g6 17. Whe £6 18. £xg6 hxgb 19.
Wy o6+ Yhs 20. £xf6+ Exf6 21. Wxf6+
©e8 22. Hadl (Wxd8+ also is good.)
checkmates.
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Leapfrog Simul:
2013.01.26

16... h6 is the only move to avoid imme-
diate checkmate.

o o N

w

17
18
19

&xh7+
296+
Wh7+

Hh8
He8



2.37 Umesh (odd) & Mr. G (even) — Keshav (1-0)

o UMESH (opD) & MR. G (EVEN)
o KESHAV

A40j: Queen’s Pawn Game: Bogoljbow-Miles Defence

Keshav blundered a pawn on move 7, a Knight on move 8, and the
Queen on move 9 and a Bishop on move 15. Finally, he blundered

another Bishop on move 19 and got checkmated two moves later.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 A\c6

2 e3 afe

3 f4 deé

4 £d3 d5

5 nf3 e6

6 A\bd?2 &\h5
7 0-0 e5?

8 DNxeb £e677
9 Wxh5 Wqar??
10 &xdT7 &xd7
11 &f3 £b4
12  Qe5 g6

13 Wf3 2e6
14 @A\xc6 bxc6
15 c3 g5??
16 cxb4 Ebs
17 fxgh Exb4
18 &f5 £c8
19 £xc8 Ebs
20 Wxfr+ &d8
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Leapfrog Simul:
2013.01.26
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2.38 Umesh (odd) & Mr. G (even) — Hari (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e HARI 2013.01.26

Ad0a: Queen’s Pawn Game: 1... c6

Hart was only 4 years old and just learned his moves. He blundered
too many pieces in the opening. We concluded by a mating sacrifice,
but Hari left the game before getting checkmated.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 c6 10 ... fxeb5

2  e3 afe6 11 @h5!

3 £d3 b6

4 Ad2 De4 .

5 Oixed d6 Better than capturing the Queen, be-
6 Of3 5 cause it is hard to meet 11. Wg5+ Leb
7 dxe5 &d7 12. Wxe54. On, 11... h6, 12. Wxe5+
8 Hxd6+ BeT £e6 13. &c4 W7 14. ed! A15. £gb+

forces 14... Wxd6 15. Wxd6+ Pe8 (15...
L7 16. We6#) 16. Wxeb+ LeT 17.
We8+ £d8 18. Wxd84t.

9 Dgb! f6

Black resigns.

10. Wh5! g6 11. exf6+ Lxd6 12. D7+ 1-0
Lc7 13. We5+ Y8 14. DHxd8 ExdS8 15.
f7 +-
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2.39 Umesh (odd) & Mr. G (even) — Rishabh (1-0)

o UMESH (opD) & MR. G (EVEN)
e RISHABH

Leapfrog Simul:
2013.01.26

BOOt: Nimzowitch Defence: 2. d4 d6

Rishabh lost a piece on move 9, and then blundered on the next
move, allowing us to win his Rook also. A crushing King hunt fol-
lowed, ending in checkmate on move 18.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

1 d4 Ac6
2 ed dé6

3 4b5 &dr7
4 D3 h5

5 Ac3 e
6 £¢g5 2g4
7 ds & xf3
8 Wy f3

ey

N W 1O N

8 . adr??

8... ab is necessary, but after 9. £a4 b5
10. & xb5!, Black’s position collapses.
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9 dxc6 Neh5??
10 cxb7+ ad7
11 &xd7+ Hxd7
12 54! €6

o O N o

N W s

13 W fr+

Both 13. Wbh5+ c6 14. £xd8 and 13.
£xd8 Eb8 (14. Exd8 15. Wh5 +—) 14.
W7+ Ld8 15. Db5 Le7 16. Hd4 wins
a Queen with a crushing attack. The
move played also is crushing.



17...

13
14
15
16
17

©eb 18, Le3+ L6 19. Whhi.

18

bxa8W
WxeT+
Wye6
Wh3+

Whs+#

S&e7
Wxal
Hc6
&b6
Lab6
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2.40 Umesh (odd) & Mr. G (even) — Raj R. (1-0)

o UMESH (opD) & MR. G (EVEN)

e RAJ R.

Leapfrog Simul:
2013.01.26

D0Oe: Queen’s Pawn Game: Stonewall Attack

Raj gave up a pawn on move 4 and a piece on move 9. On move 13,
he allowed a Bishop exchange weakening the King side, giving us a
strong attack that won the game in 18 mowves.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

d4
ed
£d3
dxe5
f4

TUR W N

Nfe
d5
e57!
DNg4d
2b4+

Looks like Raj has seen some games in
the Budapest defence, but that doesn’t

work against this setup.

c3
N3
We2
0-0

N=JN0 I R

Loses a piece.

10 £xe3
11 %Wxe3
12 9bd2
13 4gb
14 &xf5

S&e7
&c5
0-0
Nxe3??

£ xe3+
b6

g6

&f5
gxf5
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g o N ©
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This is strong, but 15. Wg3! &hs 16.
Wh3! is much stronger. 15. Wh3! also
is very strong.

15 ... fxe6

15... We7 16. Axf7T We5 was the best
way to prevent the attack, but the game
is lost anyway.



16 Wxe6+!

I intended 16. Dxe6 We7 17. Wo3+ Hhs
18. & xf8 but Mr. G.’s move is stronger.

16 ... b={ird
17 Wxfr4+ &Hh8
18 Wxh7H

84
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2.41 Umesh (odd) & Mr. G (even) — Advait (1-0)

= N W s~ 01O N

o UMESH (0DD) & MR. G (EVEN)
e ADVAIT

Leapfrog Simul:
2013.01.26

DO0d: Queen’s Pawn Game: 2. e3

Advait started to lose pieces from move 14, and then soon lost.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

1 d4 ds

2 e3 &fs5

3 c4 dxc4
4 £xc4 €6

5 Nf3 4b4+
6 4d2 &xd2+
7 Wd2 AV (3}

8 Wha Wes
9 ANe3 ab

10 Wp3 Dga
11 O-0O 0-0
12 EHacl Wes
13 h3

13

ad??

85

Starting to lose pieces.

14 Wxb7 Ha5
15  hxgd ndT??
16 gxf5 Bxf5
17 Wxce7 Wer
18 &b5 Wfe

18... Bxf3 19. gxf3 Wo5+ 20. We3
Wyo3+ 21. hxg3 Of6 would have saved
the Knight at the expense of an ex-
change, but White will still win.

19 &Qe4d Whe
20 Wxd7 Eh5
21 g3 Bf5

= N W a0 N




22 Hc8

I am not sure whether Mr. G. didn’t
see 22. Axf5 or he was too impatient
to checkmate Black faster! In any case,

Black cannot save that Rook because of
the threat 23. Exf8 &x{8 24. Wes+.

22 ... Bxc8
23 Wxc8t

= N W s~ 1o N
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2.42 Umesh (odd) & Mr. G (even) — Rohan (1-0)

o UMESH (opD) & MR. G (EVEN)

e ROHAN

Leapfrog Simul:
2013.01.26

DO0d: Queen’s Pawn Game: 2. e3

Roahn blundered a piece on move 5, another on move 10, and a third
one move 14. The rest was pretty simple for us.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

Ul N

d4
e3d
£d3
f4
And2

Blunders a piece.

Wxgd
Wo3
exd4
We3+

N=J0 JE )

d5

eb
6
nfe
Nga?

eb
exd4
Nxd4
De6

Black should have played 9... We7 to
avoid losing another piece.

10 f5

11 We2
12 g3

13 fxe6
14 Dgf3
15 Wxe6+
16 Hxd4
17  Hxeb
18 &Hxf8
19 £xh7
20 &f5
21 &f2
22 £d3
23 &Hf3

d4
Wha+
Wds
£ xeb
f6
We7
Wxe6+
Ec8
Bxf8
&f7
Bce8+
Be5
g5
Be7

87

24 b3 g4
25 &Qh4 He5
26 £b2 Hcs
27 c4 Bc6
28 Ehfl Hde
29 Hadl Hfds
30 £g6+ g7
31 Hxdé Hxd6

c d

32 o5+

Winning a Rook for two minor pieces is
not good in general, but since we are al-
ready three pieces up, this simplification
helps to win easily.



xgb
cxd6
Lgb
ab

a4
f4+
215

5

33 Qxdé6
34 He3
35 Hd1
36 Hxd6
37 Ebé6
38 bxa4
39 gxf4+
40 Ef6#

32 ...
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2.43 Umesh (odd) & Mr. G (even) — Bidipta (1-0)

o UMESH (opD) & MR. G (EVEN)
e BIDIPTA

DO0d: Queen’s Pawn Game: 2. e3

Bidipta blundered a piece on move 5, another on move 9 and a third
one on move 20. We finished the game by a mating attack.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

Leapfrog Simul:
2013.01.26

1 d4 ds Black cannot win a piece by 23... Exd1+
2 e3 Of6 24. Bxdl Exf5 because of 25. Ed84t.
3 £d3 €6
4 Nd2 D6
5 c3 £ba? 24 EHel
6 cxb4 Dxb4 25  DeT+
7 Waq+ AN 26 Dxc8
8 Daf3 0-0 27 He8%
9 0-0 Ded?
10 Sxed e5
11 Ded2 exd4? 8
I thought Black’s intention was to con- 7
tinue with 11... e4 to regain the piece,
but probably I was overthinking! 6
12 Hixd4 Hixd4 >
13  Wxd4 W6 4
14 Wxf6 gxf6
15 e4 dxe4 3
16 &Hxed g7
17 %e3 &f5 2
18 Efdl Hfe8 1
19 g3 Hads
20  Dxf5+ L8
21 £h6+ g8
22 g3 He5 1-0
23 &c2 Ec8

89



2.44 Umesh (odd) & Mr. G (even) — Atharva (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e ATHARVA 2013.01.26

A40m: Queen’s Pawn Game: 1... e6

Atharva gave a check on move 5 and forgot to take the Queen back,
and lost it. He lost more material and finally got checkmated.

Umesh made the odd-numbered moves 1-11 and the even-numbered
moves 12-26. Mr. G. made the even-numbered moves 2—10 and the
odd-numbered moves 13-25.

1 d4 €6 I don’t know what I was thinking. I
2 e3 2ba+ thought my Queen is skewered on the
3 c3 £ab Rook, and didn’t notice that the Bishop
4 £d3 2h6 is unprotected.

5 f4 Wha+

6 g3 0-077?

7 gxh4 &c6

8 013 b6 11 ... 577

9 Deb De7

10 Wf3 £b7

A confusion occurred here. Mr. G.
skipped a move because Atharva was not
at the board, and I played moves 11 and
12 by mistake. Here onwards, I played
the even-numbered moves and Mr. G.
played the odd-numbered moves.

12  &xb7 Bae8
13  Hgi Hfe
14  Dxd7 Hg6
15 Exg6 DNxgb
16 h5 Hh4a
17 Wg3 2ds
18 &Of6+ Lh8
19 Wxh4 Ebs
20 £c6 gxf6
21 Wxf6+ g8
22 Wxhé Hhs
11 £e4? 23 &drv Hg8

90



Bg7
Le8

24 W6+

25 hé
26 WxgTH
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2.45 Umesh (odd) & Mr. G (even) — Shriya (1-0)

o UMESH (opD) & MR. G (EVEN)
e SHRIYA

Leapfrog Simul:
2013.01.26

A40j: Queen’s Pawn Game: Bogoljbow-Miles Defence

Shriya sacrificed to Bishop on move 5 for an apparant attack on c2,
but that didn’t work, and she lost another piece. After the exchange
of Queens, it was pretty easy for us to win the game.

I made the odd-numbered moves and Mr. G. made the even-numbered

moves for White.

1 d4 N6

2 e3 ds

3 f4 &f5

4 a3 eb

5 Ad2 £b4?
6 axb4 DNxb4

7 e4?!

It is better to give up a pawn and stop
the attack by 7. £d3. Now both 7...
DHxd3+ 8. cxd3 £xd3 9. He2 and T...

92

£xd3 8. cxd3 Hxd3+ 9. Le2 Hixcl 10.
Wyl are favorable for White.

The move played allows Black to have
a strong pawn on e4 or d3, but allows
White to safely castle.

7 cen dxe4
8 c3 Nd3+

8... d5! | with a strong Pawn on e3 and
the threat of ...e3, is better.

9 £xd3 e3??

Shriya miscalculated. She might have
thought that both the Bishop and the
Knight are attacked and she will win one
of them. For example, 10. &xf5 exd2+
11. ¥xd2 exf5. She missed Mr. G.’s next
move.

Instead, 9... exd3 was better, even
though after 10. Dgf3, White still has
the advantage, thanks to the extra piece.

10  &c4!

Saves both pieces. However, 10. De4!
would have preserved the strong light-
squared Bishop.



g8 to g8, and the Black pawn got moved
from e6 to 6.

100 ... £xd3
11 Wxd3 wWd5
12 &Hxe3 Whs
13 We2 Wye2+
14 Hxe2

The Queens are exchanged, with White
having two extra pieces. The rest is sim-
ple.

14 .. e
15 0-0 Ded
16 g4a 0-0
17  £e3 5

18 4&\f2 a6?
19 QDxed fxed
20 g3 Hads
21 Dxed Ed5
22  EHf2 Bff5
23 g4 ga5
24 Exab Exa5
25 gb

By some reason, this is not the position
with which the game continued. Shriya
might have misplaced the pieces while
analyzing or when pieces dropped to the
ground. The Black King got moved from

93
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25 ... f5

26 Dg3 Hal+
27 &g2 Hel
28 Ee2 Hal
29 Axf5 Hab
30 £f2 g8
31 Hes b6
32 Hxas bxab
33  QeT+ &f7
34 &c6 a4

35 &b4 ab

36 4c6 a3
37 bxa3 h5
38 gxh6 gxh6
39 Hxab Lgb
40 &f3 &5
41 Hc4 c5

42 dxch Leb
43 a4 &d5
4 f5 Yxcd
45 f6 Hxc3
46 f7 Hb4
47 f8W



= N W a0 N
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2.46 Umesh (odd) & Mr. G (even) — Aaryan (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e AARYAN 2013.01.26

DO0d: Queen’s Pawn Game: 2. e3

Aaryan vlundered a piece on move 6, and again on move 11. He a
pawn and an exchange on move 13. Then he gave up a lot of ma-
terial without reason. At move 20, we were up two Rooks, a Bishop
and a Pawn. Aaryan tried a checkmate trap, but we could exhcange
the Queens off in time and won comfortably.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 d5

2 ed a6

D ogmo o N

g

5 @gf3 Lf5 ! %7 %/‘

6  &xf5 e677? 6 7 7
5

Giving up a piece for no reason. 4

3

7 £d3 ¥y d

8 0-0 0-0 2

9 Deb De4

10 Hxed 6 1

11 &f3 577

Giving up the second piece.

I saw the mate threat on h2, and was

12 &b b6 debating whether I should play 21. g3 or
13  Hxe6 Wwde 21. f4 instead of this move. What if Mr.
14  OHxf8 S xf8 G. overlooks the mate threat? Isn’t it
15 &eb 5Hc6 better to avoid it when I saw it? Should
16  &xc6 g5 I be too greedy to win another pawn?
17 Qe5 Ee8 I think I should not have taken the risk.
18 &xf5 Exeb Then I saw that in all cases, White has
19 dxeb Wxeb a way to trade Queens, which I am sure
20 WWd3 £d6 Mr. G. won’t miss.
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But still, I should have played 21. f4!,
which itself is very strong. After 21...
gxfd, we could still win the pawn by
22. £xh7+ ¥h8 23. exfd.

21 ... &f8

Black should have played 21... ¥h8!,
hoping that White overlooks the mate
on h2. After 21... &g7 also, 22. Wg6+
Hf8 23. W5+ forces the Queen trade.

22 W54

The simplest, even though 22. f4! both
defends against the mate threat and
opens the line to the Black King for a
quick checkmate.

22 ... Le8
23 Wxeb5+ £&xeb
24 EHbil c5

25 e4 d4
26 &xgb &d7
27 f4 £h8
28 Ebel c4

29 €5 b5
30 £g6 Hc6
31 €6 ds3
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32
33
34
35

cxd3 ab

e7 Lch
e8W £xb2
Wes+

35. We7+ mates in three.

35
36
37
38

. Hd4
&f6+ &d5
Led+ &d6
WeoH




2.47 Umesh (odd) & Mr. G (even) — Eeswar (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e EESWAR 2013.01.26

A45d: Indian Defence: 2. e3

Easwar has a slightly better position after nine moves, but starting
from move 10, he played weak moves. He gave up a piece on move
11, a second piece on move 14, a pawn on move 18... and finally we
had too much material. Mr. G. converted into an easy won endgame.
The rest was easy for us.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 of6
2 ed dé6
3  £d3 e5 8
4 dxeb dxeb 7
5 £b5+7!
6
Looks like I thought this will force an 5
exchange of Queens. Rather than mov- 4
ing the Bishop again, it was better to
continue development with 5. &c3 Qb 3
6. D3 &b4 7. &d2=. )
1
5 . £d7
6 £ xd7+ DbxdT
7 De2 2b4+
8  &d2 £xd2+ 1. Dga??
9 Wxd2 0-0
10 &Hbc3

This leaves the Knight on d7 singly-
protected, thereby losing it. A fork on {2
is tempting, but before making that, you

Black has better development and need to make sure your camp is secure!

slightly better position. But here on-
wards, he started making weak moves.

12 Wxd7 Wxd7
10 ... h6? 12... @xf2 is not better, because of 13.
11 0-0-0 Wxd8+ Haxd8 14. Exd8 Exd8 15. Ef1.
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13
14

Bxd7

Ef1

Dxf2
Bads??

Losing another piece. 14... g4 attacks
both e3 and h2 and will win a pawn.

15
16
17
18

Exds8
Bxf2
Dg3
Nf5

Bxd8

g5
Bf8
a6?

Eeswar doesn’t care about losing mate-
rial. Now the pawn on h6 is lost.

19
20
21
22
23
24
25

Dxh6+
Df5+
NeT+
Ded
Dxgh
Bxfr+
h4!

g7
g6
&h6
He7?
Eh8?
&h6

A neat move with some cunning threats.

25
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26 EBEh7+

Typical Mr. G.! He doesn’t miss a chance
to simplify and go to an endgame. The
idea behind 25. h4! was 26. Qed!, with
the threat of Eg7/Egh+/Df5+, fore-
ing 26... Eg8 (26... Y¥xh4 27. Dgb+) 27.

Dxg8. If 26... ¥h6, 27. Qf6 and 28.
Af5H.

26 ... Bxh7

27  &xh7 ©xh4

28  QDgb+ Ehb

29 &Hxeb &h6

30 &f6 Lgb

31 Qed7

Let the Knights support each other from
the Black King, while the rest of the

forces can settle the issue.

31
32
33
34
35
36
37
38
39
40
41
42
43

15
Le6
&f7
Le6
b5
ab
Sf7
c6
Le7
&d6
cH
b4
a4



=N W a0 N

Chess problem 1: White to play and
mate in two.

44 7

44. WHh8+ mates on next move: 44...
D6 45. Who; 44... Le7 45. WigH.

44 ... Fc6

Problem 2: White to play and mate in
two.

45 We6+

45. Wh8! and there is nothing to prevent
46. Whe+ .
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45 ... &b5

Problem 3: White to play and mate in
two.

46 b3

46. Whe+ Bcd 47. Wxch is checkmate.

46 ... axb3
47 axb3 Fab
48 WheH

= N w e (&) [e)} ~ [ee]
S




2.48 Umesh (odd) & Mr. G (even) — Ria (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e RiA 2013.01.26

D0Oe: Queen’s Pawn Game: Stonewall Attack

Ria kept losing material one after another, starting from move 12,
and by move 24, we were three pieces up. Ria resigned when the po-
sition became hopeless.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 d5 A blunder losing a piece.

2 e3 &6

3 £d3 2e6

4 Dd2 Qbd7

5 fa -§-21 12  &xa4 £xad
6 Dgf3 h5 13 Wxad+ adv7
7 0-0 c5 14 4df3

8 c3 c4

9 2c2 2\b6

10 h3 &dr

11 De5 Being a piece up, White could have

traded Queens with 14. Wxd7+, but
why not continue the attack, having a
big development and initiative?

8
7
6 14 ... Ebs
15  Ogb b5
5 16 Wc2 b4?
4
3
Loses a Rook, but 16... Axed 17. fxeb
2 6 18. We6+ Ld7 19. Df7 is not much
1 better.
17 Qexf7 Wcs
11 ... Da4?? 18 9xh8 Wa6
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I finally decided to simplify. There may
be much better ways for a quick win,
but too much complicated for a leapfrog
simul!

19 ... Wxg6
20 “Dxg6 2b6
21 f5 bxc3

101

22 bxc3 afe6

23 Qeb b7
24 QDgxf8 Ded
25 £a3 Dg3
26 Efbl De2+
27 &f2

Ria resigned. She can win a pawn with
27... Exbl 28. Exbl Hixc3, but the po-
sition is hopeless.

= N W s~ 1o N




2.49 Umesh (odd) & Mr. G (even) — Gavin (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e GAVIN 2013.01.26

D0Oe: Queen’s Pawn Game: Stonewall Attack

Gavin played the first 12 moves well, but had to leave early, so could
not continue.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 ds 11 ... Dxh5

2 e3 66 12 Hg1?

3 £d3 D6

4 fa €6

5 @adz £d6 12. Wh3, preventing 12... Wha+, is bet-
6 c3 0-0 ter.

7 Dgf3 b6

8 Deb 2b7

9 W3 g6

10 g4 h5 12 ... Wha+

o OO N

w

11. Hgl!  would have been much
stronger.
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13. W2 was simple and keeps the pawn Dfl Wel 18. AxfS Yxf8 19. Wxh5+—.

on h2. Gavin had to leave, so he resigned and

However, it is risky for Black to capture went.
the pawn on h2: 13. €d1 Wxh2?! 14. Zg2 1-0
Wha 15. Bxgb+! fxgb 16. Nxg6 Wh2 17.
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2.50 Umesh (odd) & Mr. G (even) — Arthur (1-0)

o UMESH (0DD) & MR. G (EVEN) Leapfrog Simul:
e ARTHUR 2013.01.26

DO0d: Queen’s Pawn Game: 2. e3
Arthur left after 8 moves. The game was pretty even.

I made the odd-numbered moves and Mr. G. made the even-numbered
moves for White.

1 d4 d5

2 e3 N6

3 4 6 8
4 Nf3 2e7

5  4£d3 g6 7
6 0-0 afe 6
7 QNbd2 0-0

8 c3 5

w

Arthur left, without continuing. The
game is even.

1-0
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3 Photos

Figure 1: Mr. G. explains the rules

Figure 2: Mr. G. waiting for Umesh to finish the other half.
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Figure 3:

Figure 4:
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Figure 6: Umesh against Aryan, who had winning advantage in the game.
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3
3
3

Figure 7: Mr. G. in action.

Figure 8: Even little kids made us think.
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Figure 9: Some kids were reading books between moves.

Figure 10: Final position of the game against Austin (Game 2.31, Page 70).
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Figure 11: Our most prestigeous game, against the veteran player Fred.
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4 Statistics

Number of games

Total time

Total moves played
Average moves per game

Average time per move (for us)®

Average time per move (for opponents)®

Longest game

Shortest game

Shortest checkmate

Winning advantage for White

Winning advantage for Black
Even games

50

6 hours 40 minutes

1302

Mean = 26.07 (Std. dev. = 13.6)
Median = 21

Mode = 18

15.67 sec.

9.4 min.

69 moves: (Game 2, Page 5)

8 moves: (Game 2.50, Page 104)°
13 moves: (Game 2.28, Page 66)

In 1-5 moves: 8 games

In 6-10 moves: 13 games

In 11-15 moves: 17 games

In 15-20 moves: 6 games

In 21-25 moves: 3 games

In > 25 moves: 1 game

In 11-15 moves: 1 game

2 games (withdrawn)

“Excluding the time for breaks to catch up with each other, but including the time to

record the moves.

bWhen there were 36 boards. This reduced considerably when the number of boards became

less and less.
¢This was an unfinished game.
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Index

Games

vs Aaryan, 95
vs Adarsh, 65
vs Advait, 85
vs Amogh, 50
vs Anurag, 27
vs Arthur, 104
vs Aryan, 12
vs Atharva, 90
vs Austin, 70
vs Bidipta, 89
vs Brandon, 57
vs Daniel, 61
vs Eeswar, 97
vs Fred, 5

vs Gavin, 102
vs Hari, 80

vs Haritha, 73
vs Harrison, 58
vs Indra, 29

vs Isha, 56

vs Jasper, 46
vs Jeffrey, 43
vs Karan, 75
vs Keshav, 79
vs Kevin, 71
vs Kushal, 20
vs Laasya, 76
vs Laura, 52
vs Likith, 64
vs Manu, 24
vs Nandit, 31
vs Nikhil, 68
vs Nishanth, 78
vs Pratham, 67
vs Prerana, 38
vs Pryal, 34

vs Raghu, R., 17

vs Rahul, 40
vs Raj, 60

vs Raj R., 83
vs Ria, 100

vs Rishabh, 81

vs Rishi, 22

vs Rohan, 87
vs Saravana, 36
vs Sasank, 48
vs Shreyas, 54
vs Shriya, 92
vs Vighnesh, 66
vs Wilson, 62

Openings
A40a
Queen’s Pawn Game, 38
Queen’s Pawn Game: 1... c6, 80
A40i
Englund Gambit, 12, 67
A40j
Queen’s Pawn Game: Bogoljbow-
Miles Defence, 60, 61, 73, 76,
79, 92
A40m
Queen’s Pawn Game: 1... e6, 20,
22, 52, 56, 90
A45d
Indian Defence: 2. e3, 36, 97
A48c
Neo-King’s Indian, 24
A90
Dutch: 2. c4 6 3. g3 e6 , 5
BOOt
Nimzowitch Defence: 2. d4 d6,
81
D004
Queen’s Pawn Game: 2. e3, 17,
27, 29, 31, 34, 40, 46, 48,
50, 54, 57, 58, 64, 66, 68,
71, 78, 85, 87, 89, 95, 104
DOOe
Queen’s Pawn Game: Stonewall
Attack, 43, 62, 65, 70, 75,
83, 100, 102

Winning advantage
For Black
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In 11-15 moves, 12
For neither, 102, 104
For White
In 01-05 moves, 38, 61, 67, 76
78, 80, 87, 89
In 06-10 moves, 31, 40, 52, 64
68, 70, 75, 79, 81, 83, 90
92, 95
In 11-15 moves, 22, 27, 34, 43
46, 48, 56—58, 60, 62, 65
66, 73, 85, 97, 100
In 15-20 moves, 5, 20, 24, 29
50, 71
In 21-25 moves, 17, 36, 54
In 36-40 moves, 12

)

b

)

)

9

)
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